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Question Id : 87827041517 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of employees working in five different colleges A-E, alongwith
the ratio of Males to Females [M : F] among them. Based on the data in the table, answer the
questions that follow.

College-wise Details of Employees

College | Number of Employees| Ratio
M:F

A 3040 13:6

B 3360 4:3

C 2920 9:11

D 2760 10:13

E 2840 137

Sub questions

Question Number : 1 Question Id : 87827041518 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

What is the total number of male employees taking all the Colleges together ?

(1) 8120
(2) 8240
(3) 8360
(4) 8560
Options :

878270163041. 1
878270163042. 2
878270163043. 3

878270163044. 4

Question Number : 2 Question Id : 87827041519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the average number of female employees taking all the colleges together ?

(1) 1312
2) 1372
(3) 1336
(4) 1292
Options :

878270163045. 1
878270163046. 2
878270163047. 3

878270163048. 4

Question Number : 3 Question Id : 87827041520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The number of male employees wotking in Colleges A and C together is approximately %
more than the number of female employees working in colleges B and D together.

(1) 9

(2) 15

(3) 11

4) 13

Options :
878270163049. 1
878270163050. 2
878270163051. 3

878270163052. 4

Question Number : 4 Question Id : 87827041521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio of female employees working in College D to that in College E ?

(1) 7:4
(2) 780 : 497
(3) 390 : 491
(4) 9:5
Options :

878270163053. 1
878270163054. 2
878270163055. 3

878270163056. 4

Question Number : 5 Question Id : 87827041522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The number of employees working in College C is approximately % more than that in

College D.
() 8

(2) 6
3 4
(4 10
Options:

878270163057. 1
878270163058. 2
878270163059. 3
878270163060. 4

Question Id : 87827041517 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 3040 13:6
B 3360 1:3
C 2920 0:11
D 2760 10:13
P 2840 13:7

Sub questions

Question Number : 1 Question Id : 87827041518 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

guft weifa=ned o1 fiemert g5y FH=ial 1 o g fhaf ©2

(1) 8120
(2) 8240
(3) 8360
(4) 8560

Options :

878270163041. 1
878270163042. 2
878270163043. 3
878270163044. 4

Question Number : 2 Question Id : 87827041519 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 1312
(2) 1372
(3) 1336
(4) 1292

Options:

878270163045. 1
878270163046. 2
878270163047. 3

878270163048. 4

Question Number : 3 Question Id : 87827041520 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270163049. 1
878270163050. 2
878270163051. 3
878270163052. 4

Question Number : 4 Question Id : 87827041521 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1) 7:4

(2) 780 : 497
(3) 390 : 491
4 9:5
Options :

878270163053. 1
878270163054. 2
878270163055. 3
878270163056. 4

Question Number : 5 Question Id : 87827041522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270163057. 1
878270163058. 2
878270163059. 3

878270163060. 4

Sub-Section Number : 2
Sub-Section Id : 8782701738
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827041523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

An economics teacher wants to create an infographics to explajn supply and demand to her students.
Which of the fo]lowing tools would be most suitable ?

(I) Edpuzzle

(2) Canva

(3) Quizlet

(4) Mindmeister
Options :
878270163061. 1
878270163062. 2
878270163063. 3

878270163064. 4



Question Number : 6 Question Id : 87827041523 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270163061. 1
878270163062. 2
878270163063. 3

878270163064. 4

Question Number : 7 Question Id : 87827041524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Norm referencing is used to interpret a score of an individual by comparing it
with those of other individuals.

Statement I :  Criterion referencing is used to interpret a person’s performance by comparing it
to some specified behavioural domain.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement II is incorrect
(

4) Statement I is incorrect but Statement II is correct

Options :



878270163065. 1
878270163066. 2
878270163067. 3

878270163068. 4

Question Number : 7 Question Id : 87827041524 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163065. 1

878270163066. 2

878270163067. 3

878270163068. 4

Question Number : 8 Question Id : 87827041525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the elements of observational learning ?
(A) Production

(B) Attention

(C) Identification

(D) Retention

(E) Motivation

Choose the correct answer from the options given below :

(1) (B), (C) and (D) Only

(2) (A)and (E) Only

(3)  (A), (B), (D) and (E) Only
(4) (C) Only

Options:

878270163069. 1
878270163070. 2
878270163071. 3
878270163072. 4

Question Number : 8 Question Id : 87827041525 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163069. 1
878270163070. 2
878270163071. 3

878270163072. 4

Question Number : 9 Question Id : 87827041526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In "VARK' model of learni_ng st}fles, ‘A" stands for

(I) Auspicious
(2) Augmentary
(3) Authentic
(4) Aural
Options :

878270163073. 1
878270163074. 2

878270163075. 3



878270163076. 4

Question Number : 9 Question Id : 87827041526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163073. 1
878270163074. 2
878270163075. 3

878270163076. 4

Question Number : 10 Question Id : 87827041527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a very bright light is incident on our eyes, we immediately close our eyelids.
This is an example of

(1)  Biological instincts

¥

(2)  Reflex actions
(3) Desired instincts
(4)

Intrapersonal instincts
Options :

878270163077. 1
878270163078. 2

878270163079. 3



878270163080. 4

Question Number : 10 Question Id : 87827041527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270163077. 1
878270163078. 2
878270163079. 3

878270163080. 4

Question Number : 11 Question Id : 87827041528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

[dentify the disadvantages of open ended questions in survey research.
(A) The questions do not suggest certain kinds of answer to respondents.
(B) They are time consuming for interviewers to administer.

(C) They require greater effort from respondents.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (4), (B) and (C)

Options :



878270163081. 1
878270163082. 2
878270163083. 3

878270163084. 4

Question Number : 11 Question Id : 87827041528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163081. 1
878270163082. 2
878270163083. 3

878270163084. 4

Question Number : 12 Question Id : 87827041529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a reference written in APA style, arrange the information pertaining to the reference in correct
order.

(A) DOI number

(B) Volume number

(C) Name of author

(D) Title of the article

Choose the correct answer from the options given below :
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Options:

878270163085. 1
878270163086. 2
878270163087. 3

878270163088. 4

Question Number : 12 Question Id : 87827041529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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878270163085. 1
878270163086. 2
878270163087. 3

878270163088. 4

Question Number : 13 Question Id : 87827041530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A research study is said to have heuristic value if :
(1) It leads to no further research

(2) It generates more research
(3) Its results lack consistency
(4)  Its results lack validity

Options :

878270163089. 1
878270163090. 2
878270163091. 3

878270163092. 4

Question Number : 13 Question Id : 87827041530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270163090. 2
878270163091. 3

878270163092. 4

Question Number : 14 Question Id : 87827041531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An entrance examination with objective type questions is conducted. For each correct answer, 1
mark is awarded and for each incorrect answer .25 marks are deducted. The number of marks
scored by candidates who appeared in the examination, is an example of :

(1) nominal variable

(2)  discrete variable

(3) ordinal variable

(4)  continuous variable

Options :

878270163093. 1

878270163094. 2

878270163095. 3

878270163096. 4

Question Number : 14 Question Id : 87827041531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270163093. 1
878270163094. 2
878270163095. 3
878270163096. 4

Question Number : 15 Question Id : 87827041532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ;  Medical research usua]ly involves pain or distress in animals.

Statement I1:  Psychological research is usually benign and may mvolve little, if any, discomfort
for the animals.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270163097. 1

878270163098. 2

878270163099. 3

878270163100. 4

Question Number : 15 Question Id : 87827041532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163097. 1

878270163098. 2

878270163099. 3

878270163100. 4

Question Number : 16 Question Id : 87827041533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A photograph constitutes a/an :

(1

) Protective text
(2) Refined text
(3) Closed text
(4) Open text
Options :
878270163101. 1
878270163102. 2
878270163103. 3

878270163104. 4

Question Number : 16 Question Id : 87827041533 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163101. 1
878270163102. 2
878270163103. 3

878270163104. 4

Question Number : 17 Question Id : 87827041534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Buddhist concept of communication is marked by :
(1) Mono-causality

(2) Dyadic causality

(3) Multi-causality

(4) Skewed causality

Options:

878270163105. 1

878270163106. 2

878270163107. 3

878270163108. 4

Question Number : 17 Question Id : 87827041534 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270163105. 1
878270163106. 2
878270163107. 3

878270163108. 4

Question Number : 18 Question Id : 87827041535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

At present, cyber communication is a :
(1) Fictitious reality

(2) Palpable reality

(3) Futuristic reality

(4) Conventional reality
Options :

878270163109. 1
878270163110. 2
878270163111. 3

878270163112. 4

Question Number : 18 Question Id : 87827041535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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878270163109. 1
878270163110. 2
878270163111. 3

878270163112. 4

Question Number : 19 Question Id : 87827041536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main objectives of public policy sphere communication is to involve citizens in :
(A) Idea generation

(B) Policy critique

(C) Innovative policy practices

(D) Ignoring oppositional views

(E)  Promotion of stereotypes

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4)  (A), (D) and (E) Only

Options :

878270163113. 1
878270163114. 2
878270163115. 3

878270163116. 4



Question Number : 19 Question Id : 87827041536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270163113. 1
878270163114. 2
878270163115. 3
878270163116. 4

Question Number : 20 Question Id : 87827041537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  Western communication models examined the relaﬁonship among communicative
elements on an individual basis.

Statement Il ;  The Buddhst concept of communication emphasises the contextualisation of each
of the communicative elements.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement L is false but Statement Il is true
Options:

878270163117. 1

878270163118. 2

878270163119. 3

878270163120. 4

Question Number : 20 Question Id : 87827041537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 @ o ey g

F]: YO SR WEE § SR YR TGS d@l % 6 i & g & |
WL : TR H g IR H Yo WA 7 & Fefie w aw fom @ g

IR e & S W, T4 U T foeredl H § W S o I

1) HORIAR W T

D) AR R 1 3 o £

) @R 1§ ¢, Ol e 1 o €

4) A1 &, Vi RO T &

L]

(
(
(
(
Options :

878270163117. 1

878270163118. 2



878270163119. 3

878270163120. 4

Question Number : 21 Question Id : 87827041538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A man, a woman and a boy can do a piece of work in 6, 9 and 18 days, respectively. How many
boys should assist one man and one woman to do the work in one day ?

(1) 13
2 1

3 11

4) 10
Options :
878270163121. 1
878270163122. 2
878270163123.3

878270163124. 4

Question Number : 21 Question Id : 87827041538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T %0, T Hfeell N T acrd: foret o 1 90 6, 9 S 16 fed B 0 9 & | T Wfeen 3% @
6 1 7 ) G et ol ot o foru, Foil airehl o1 Smaen o Sfiaveeeel 2 7

(1) 13

2) 15

() 1

(4) 10
Options :
878270163121. 1

878270163122. 2



878270163123. 3

878270163124. 4

Question Number : 22 Question Id : 87827041539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A family consists of 6 members namely A, B, C, D, Eand F. B is the brother-in-law of C's mother.
Cis the father of F. Dis the father of Xandf is the grandson of D. There are two female members
in the family. Which of the following pairs represent the female members in the family ?

Aand D

Options :

878270163125. 1
878270163126. 2
878270163127.3

878270163128. 4

Question Number : 22 Question Id : 87827041539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A,B,C,D,E #IF 719% 98 9@ W WeR § &1 B,CH AT AL el CFafmel D, A
TARE, DF A &1 ofEm § < wfee €| Freifefen # 4 91 91 9w ofEn § afeen wew 9 i
g’

() AZRD
() DHRE
(3) A3RE
(4) BERC

Options :



878270163125. 1
878270163126. 2
878270163127.3

878270163128. 4

Question Number : 23 Question Id : 87827041540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
15,5108 18,275,489, %, .

(1) 48.5
(2} 2258
(3) 625
(4) 725
Options :

878270163129. 1
878270163130. 2
878270163131. 3

878270163132. 4

Question Number : 23 Question Id : 87827041540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T T T Ffe S A & gEen § wwaras: fag i ufrenf 9w gee
15,5, 105, 18, 275,39, 2. .,

(1) 485
(2) 525
(3) 625
4) 725



878270163129. 1
878270163130. 2
878270163131. 3

878270163132. 4

Question Number : 24 Question Id : 87827041541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child is looking for his father. He goes 100 meter towards east and then turns to his right and
goes 30 meters. From there the child again turns to his right and goes for 40 meters. Where he
finds his father at his uncle’s place. How far is his uncle’s place from the starting point of the
child ?

(1) 3045 meter
(2) 40 meter

(3) 4045 meter
(4) 30410 meter
Options :
878270163133. 1
878270163134. 2
878270163135. 3

878270163136. 4

Question Number : 24 Question Id : 87827041541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



e ] 319 iR A 4% T €1 9 T A SR 100 R S € S R e aife g o € e 30 e
W8 | T T A St T & e 40 F S €, W) o oA ST o R R A o o o
¢ T % o s 3 39 9 A R R @ e

(1) 305 e

(2) 40"

B) 405 T

C T

Options:

878270163133. 1
878270163134. 2
878270163135. 3
878270163136. 4

Question Number : 25 Question Id : 87827041542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language :

(a) 1000 ie. 10° is coded as 1331

(b) 125i.e.5%is coded as 216

How 729 will be coded in that language ?

(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270163137. 1
878270163138. 2
878270163139. 3
878270163140. 4



Question Number : 25 Question Id : 87827041542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
gfe fordl e W o :
(a) 1000 21T 10° &1 1331 % ®9 H FHfeq fomam 701 ©
(b) 125 1eifd 5° F1 216 F &9 H Ffeq foFan 7 €

dl 39 9T H 729 k1 Y Hied fopan smam ?
(1) 1000
(2) 1728
(3) 1331
(4) 2197
Options :

878270163137. 1
878270163138. 2
878270163139. 3

878270163140. 4

Question Number : 26 Question Id : 87827041543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are contradictory to each other ?
(A) All plants are fungi

(B) No plants are fungi

(C) Some plants are not fungi

(D) Some plants are fungi

Choose the correct answer from the options given below :
(1) (B) and (D) Only

(2) (A)and (B) Only
(3) (C) and (D) Only
(4) (A) and (D) Only

Options :



878270163141. 1
878270163142. 2
878270163143. 3

878270163144. 4

Question Number : 26 Question Id : 87827041543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frfafea o #9-9 %97 TF TH S AT © 2
(A) T WY FF T |
(B) HIZ UreN FHeleh e o
(C) Fo W Tk el ¢
(D) F® Y FIF ¢ |
= fou 7o fowedi § 9 W& SO 1 999 Hife
(1) = (B) 3R (D)

(2) FaA (A) AR (B)
(3) A (C) X (D)
(4) FaA (A) 3R (D)

Options :

878270163141. 1
878270163142. 2
878270163143. 3

878270163144. 4

Question Number : 27 Question Id : 87827041544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



[f the statement - “All trucks are po]lul‘ing vehicles” is given as false, then which of the follnwing
statements can be immediately inferred to be true ?

(I) Some trucks are polluting vehicles.

(2) Some trucks are not polluting vehicles.
(3)  No trucks are polluting vehicles.
(.

=y

) No polluting vehicles are trucks.

Options:

878270163145. 1
878270163146. 2
878270163147. 3
878270163148. 4

Question Number : 27 Question Id : 87827041544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o Fem - 9 7% TeuE A €1 e fem e € @ Pt F € dR-A A Y R W
T 1 Wl & 7

(1) %9 7 I e

Q) T3 7% T e T ¢
(3) ot 7 T A I ¢
(4) o U e 2% ) ¢
Options :
878270163145. 1
878270163146. 2
878270163147. 3

878270163148. 4

Question Number : 28 Question Id : 87827041545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement - “Some philosophers are not
idealists.”?

(I) Some philosophers are not non-idealists.

(2)  No idealists are philosophers.

(3)  Some non-idealists are not philosophers.

(4)  Some non-idealists are not non-philosophers.
Options :

878270163149. 1

878270163150. 2

878270163151. 3

878270163152. 4

Question Number : 28 Question Id : 87827041545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frfafea # @1 wua-' o gnifr goger =& €', % 9nqe 87
(1) T SRIHF T-JagamK] T8 © |

) oIS FoIFers e e 8 |

) FS IR-YIFER! aUh 7ol © |

) FO TR-YFerR! IR-gmifE Tl ¢ |

Options :

878270163149. 1

878270163150. 2

878270163151. 3

878270163152. 4

Question Number : 29 Question Id : 87827041546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which fallacy is involved in the following statement “Indian pharmaceutical companies are
p‘ro[itabl& therefore, average Indian pharmaceutical company is pmfitable"?

(I) Fallacy of Division

2

Hasty Generalisation

2
(3)  Slippery Slope
()

4)  Fallacy of Accident

Options :

878270163153. 1
878270163154. 2
878270163155. 3

878270163156. 4

Question Number : 29 Question Id : 87827041546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

vt e & SF- 7 W Tl ¢ - (R s et aven § g o R

T O R

(1) fourem = 7 g
(2) et JHE
(3)  ToHerR Ze

4
Options :
878270163153. 1
878270163154. 2
878270163155. 3

878270163156. 4

Question Number : 30 Question Id : 87827041547 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The Aristotelian syllogism is only inductive and formal.
Statement 11 : N}f:iya sy]logism is deductive - inductive and formal-material.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement 1 is true but Statement II is false
(4)  Statement I is false but Statement II is true
Options :

878270163157. 1

878270163158. 2

878270163159. 3

878270163160. 4

Question Number : 30 Question Id : 87827041547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁ%awfww%:

FAT]: AT F AHAH FId AT AR STHE 2l ¢ |

FOTI: 0 F THAH S - SFHAHS S ST Terefa 2 €
SR HYA & el H, e U T forredl § § R T T FIfC

(1) oA 1R w13 7 &

(2) WU 1 2R w1 S 3 §
(3) HUTITA T, ol T U1 594 @
(4) HUTIHEA T, Al FIAT I TA €
Options :

878270163157. 1



878270163158. 2
878270163159. 3

878270163160. 4

Question Number : 31 Question Id : 87827041548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An advantage to a business that uses Intranet capabilities is that it allows employees to share the
business's information with

(1) Customers.

2

(3)  Competitors
g

Each other.

Former employees,

Options :

878270163161. 1
878270163162. 2
878270163163. 3

878270163164. 4

Question Number : 31 Question Id : 87827041548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5GP W F1 I ¢, T AT H} AN T ¢ 5 T wAAE A e A g
i o T4 W e 1 Tt e 7 ¢ -

(1) T & 9
) TE-THE M
%) et %
4) T FHAE & Y

Options:

(
(
(



878270163161. 1
878270163162. 2
878270163163. 3

878270163164. 4

Question Number : 32 Question Id : 87827041549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the following MS-EXCEL screenshot that shows the product code, name of the state
which produced the product and Quality of the product :

A B C D

1 |ProductCode| State |Quality

2 Al HP A

3 A2 MP A

4 A3 UP A

5 Ad UpP B

b A5 upP B

7

Which of the following EXCEL formulae can be typed in Cell D1 to answer the question : How
many different product codes form UP are of Grade “A” quality ?

A, = COUNTIFS (B2:Be, “=UP", C2:C6,"=A")

B. = COUNTIFS (C2:Co, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP”, C2:C6, “A")

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (A)and (C) Only

(3) (B) and (C) Only

(4) (A) (B) and (C)

Options :
878270163165. 1

878270163166. 2



878270163167. 3
878270163168. 4

Question Number : 32 Question Id : 87827041549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

reifeifin Tom e e T R i o S Fe, e T 9 09 9 AW 6 3R
ﬁ‘]ﬂﬂﬂlﬂﬁf?ﬁﬁ%:

A B | C | D
1 | 3R*E | ™ | T

) Al HP | A

3 A2 MP | A

4 A3 WP [ A

5 Ad UP | B

b A UP | B

7

UP e o= 3601 1 “A” I T alel € 7 36 W 91 I <1 it ¥t D1 ¥ i ¥ 9
B 1 TRIE 93 259 f o e 8

A. = COUNTIFS (B2B6, "=UP", C2C6,"=A")

B. = COUNTIFS (C2:C6, “=A", B2:B6,"=UP")

C. = COUNTIFS (B2:B6, “UP", C2:C6, “A")

A fou T fosredl @ B Wl SR 1 T Fi

(1) % (A) 3T (B)
Q) @ (A) 3 (C)
() A (B) % (C)
(@) () @) (C)
Options :
878270163165. 1
878270163166. 2

878270163167. 3



878270163168. 4

Question Number : 33 Question Id : 87827041550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  'Disk defragmentation’ makes files that are contiguous in a disk as fragmented.

Statement I1: A device controller that controls a device will deal with the operating system
through device driver.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are true

2)  Both Statement I and Statement I are false

3

4) Statement | is false but Statement Il is true

(
(3) Statement I is true but Statement II is false
(

Options :

878270163169. 1

878270163170. 2

878270163171. 3

878270163172. 4

Question Number : 33 Question Id : 87827041550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%ﬂﬁﬁfﬂw%:

T ‘o femem folt fom  wam weel @) foifen & 2

FOT I g o, i ferel 4fe o e o feamew e g aAfoRfe freew 1 3
|

SR Ho % e §, T fou T fomredt # 9 W S T i

(1) R 13 e 11 3F 9 &

(2) YR 1 3R e 11 3 o §

() R 1T ¢, ©ife e 11 79

(4) U1 3 &, A FOF T §

Options:

878270163169. 1

878270163170. 2

878270163171. 3

878270163172.4

Question Number : 34 Question Id : 87827041551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding Artificial Intelligence (AI) is/are correct ?

(A) Al systems can be used in email spam filters,

(B) Al systems are capable of analyzing uncertain information.

(C) An Al system is a system for capturing, storing, processing and displaying data related to
positions on earth’s surface.

Choose the correct answer from the options given below :

() (4)Only

(2) (A)and (B) Only

(3) (A) and (C) Only

(4) (B) and (C) Only

Options :

878270163173. 1



878270163174. 2
878270163175. 3

878270163176. 4

Question Number : 34 Question Id : 87827041551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Fm g (Al) F Feol # Feforfen § @ B9 WA T 9@ 2R

(A) TaE (AL) T 1 YA Sl A et o feren <1 ek

(B) T (Al) Wgfe e e & forvermm o o ol €

(C) e (Al) Wf Yl %t o T feafedl & waftm 21 & T, HRw, TR T wev i ugf

8l
7 feu o foered # 9 WE SO o T
(1) ¥ (A
(2) A (A) 4 (B)
() A (A) 9 (Q
(@) I (B) 3 (C)
Options :

878270163173. 1
878270163174. 2
878270163175. 3

878270163176. 4

Question Number : 35 Question Id : 87827041552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following features are available in word processing software such as MS-WORD ?
(A) Spell checker and Thesaurus

(B) Page Orientation

(C) Mail Merge

(D) Slide Transitions

Choose the correct answer from the options given below :

(1) (A), (B)and (D) Only

(2) (A)and (C)Only
(3) (B) and (C) Only
(4) (A), (B) and (C) Only

Options:

878270163177. 1
878270163178. 2
878270163179. 3
878270163180. 4

Question Number : 35 Question Id : 87827041552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty 9 S 9 MR greem # frefafad § 8 @ afiwem syeey €7
(A) Tl <Rt SR I

(B) TS SN

(C) Wl WSl

(D) WIES

A feu T fomred @ | W ST 1 I HINC ;

(1) @ (A), (B) 3 (D)

Options :



878270163177. 1
878270163178. 2
878270163179. 3

878270163180. 4

Question Number : 36 Question Id : 87827041553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not caused by polluted water ?
(1) Cholera
(2) Dysentery
(3) Typhoid
)

(4) Tuberculosis

Options :

878270163181. 1
878270163182. 2
878270163183. 3

878270163184. 4

Question Number : 36 Question Id : 87827041553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ffafad § wE-9t S gfod S % R0 2 el © 2

(1) &0

(2) sfeaR/afE

(3) TAREIS

(4) aufcer
Options :

878270163181. 1



878270163182. 2
878270163183. 3

878270163184. 4

Question Number : 37 Question Id : 87827041554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I Toxic chemicals often injure human organs and organ systems.
Statement I1:  Toxicants that damage kidneys are called as Hepatotoxic.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270163185. 1

878270163186. 2

878270163187. 3

878270163188. 4

Question Number : 37 Question Id : 87827041554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



%@imﬁf{w%:

FUT]:  Tawed TR T e o ST WMa S 9 W e vgeEn €
FUT: 9 g0 91 T i THIH TE9N €, 3% eURIRIGEE Fel S ¢ |
I FYH o A H, = I T foskedi § 9 W& I T4H HifoC
(1) Y1 AR HIT 1 SH el &

() AT R HAT I SH T ©
(3) Y I 9E B, lfehd SR 11 TTeTd ©
(4) YT 1A T, AfFT RO T €
Options:

878270163185. 1

878270163186. 2

878270163187. 3

878270163188. 4

Question Number : 38 Question Id : 87827041555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing are related to ‘source reduction’ in inhegrated solid waste management ?

A)  Reduced Toxicity
B) Composting

) Landhll
E) More durable products

(

(

(C) Less Packaging
(D

(

Choose the correct answer from the options given below :
(1) (4) (8)and (C) Only
(2) (A), (C) and (E) Only
(3) (B), (C) and (D) Only
® (), (D)and (E) Only

Options :

878270163189. 1



878270163190. 2
878270163191. 3

878270163192. 4

Question Number : 38 Question Id : 87827041555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

quferd 3 s yeve ¥, freferea § -9 8 e s’ | grafid §2

(A) T9=Tae femmaR
(B) ZHURE FAMI

(C) THfS W FT
(D) el

E) e femrs 3R
e feu e fosred @ U@ IR #1999 Fife
() e (A), (B) R ()
(2) o (A), (O 3R (E)
(3) e (B), (C) ¥ (D)
(4) % (C), (D) &R (E)
Options :

878270163189. 1
878270163190. 2
878270163191. 3
878270163192. 4

Question Number : 39 Question Id : 87827041556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Depletion of stratospheric ozone results into

(A) Increase in the ultraviolet radiation

(B) Increase in infra-red radiation

(C) Increase in skin cancer

(D) Significant impact on terrestrial flora and fauna
(E) Decrease in cataract cases

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2) (A), (C) and (D) Only

3) (B), (©), (D) and (E) Only

(4) (A), (B) and (C) Only

Options:
878270163193. 1
878270163194. 2

878270163195. 3
878270163196. 4

Question Number : 39 Question Id : 87827041556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Hee g SSTH o Ffaaemtor (&) =1 999 81 ©
(A) e farferwor # gfg

(B) 3TeEd fafetu # dfg

(C) = FmH gfg

(D) Treira seafadi 31 Sia sigefi W Ayl guE
(E) wifaanfeg o el § Hl

A1 few T fomredi # § W& IO H =TI I ;
(1) 9 (A), (B), (C) 3R (D)

(2) F=d (A), (O) ¥R (D)

(3) %4 (B), (O), (D) 3R (E)

(4) %9 (A), (B) 3 (C)

Options :

878270163193. 1
878270163194. 2
878270163195. 3
878270163196. 4

Question Number : 40 Question Id : 87827041557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Nitrous Oxide (N,O).

(A) causes acid rain

(B) islaughing gas

(C) 1is carcinogenic

(D) is a green house gas

(E) is a criterion air pollutant
Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

() (O, (D) and (E) Only

(3) (B) and (D) Only

(4) (A) and (E) Only

Options:
878270163197. 1
878270163198. 2

878270163199. 3
878270163200. 4

Question Number : 40 Question Id : 87827041557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



egH ARTES (NyO)

(A) =Tg IO 1 FEF T |

(B) feiT i (ZHH Ael 1) ¥

(C) FHEHF (FRFEASIAR) T

(D) WrE=g e

(E) T Hah agugua & |

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (D) 3R (E)

(2) 9 (C), (D) ¥R (E)
(3) A (B) &R (D)
(4) A (A) 3R (E)
Options :

878270163197. 1
878270163198. 2
878270163199. 3
878270163200. 4

Question Number : 41 Question Id : 87827041558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Michael Sadler commission was constituted to study the problems of :
(1) Bombay University

(2) Madras University
(3) Poona University
(4) Calcutta University

Options :

878270163201. 1
878270163202. 2
878270163203. 3
878270163204. 4



Question Number : 41 Question Id : 87827041558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WEehel TEeR AR 1 T forqent guenat 1 7o 0 & fau farm mn a2

(1) il favafaeme
(2) e fovefaemed
(3) T fevefararea
(4) Serr fagafeaaed
Options :

878270163201. 1
878270163202. 2
878270163203. 3
878270163204. 4

Question Number : 42 Question Id : 87827041559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The National Education Policy, 1986 recommended the establishment of _in the country.
(I) Community colleges

(2)  Open universities

(3) National universities of eminence

(4)  Discipline-wise universities

Options:

878270163205. 1
878270163206. 2
878270163207. 3
878270163208. 4



Question Number : 42 Question Id : 87827041559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
et foner Hifa, 1986 = <1 T forgert o= T fawif &1 off ?
(1) HIHeIEes Helfa=ed

) He favafeaered

(3) U™ Scpreal favafaere™
) Taug-anr feavafasrem

Options :

878270163205. 1

878270163206. 2

878270163207. 3

878270163208. 4

Question Number : 43 Question Id : 87827041560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Curzon's uniuersit_\F reforms reflected the official attitude towards the spread of
higher education in [ndia.

Statement Il :  There was no resistance to the Indian universities Bill piloted by Curzon from
any section of Indians,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are true
2)  Both Statement I and Statement I are false

(
(3)  Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270163209. 1



878270163210. 2
878270163211. 3

878270163212. 4

Question Number : 43 Question Id : 87827041560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270163209. 1
878270163210. 2
878270163211. 3
878270163212. 4

Question Number : 44 Question Id : 87827041561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(Ancient thinkers) (Area of study)
(A) Panini ()  Astronomy
(B) Jivaka (II) Grammar
(C) Bhaskara (IIT) Medicine
(D) Kanada (IV) Physics

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)~(1D), (C)-(I), (D)-(IV)

(2)  (A)-(ID, (B)-(D), (O)(I), (D)-(IV)

(3) (A1), (B)-(l1), (C)-(I), (D)-(IV)

(4)  (A)-(ID), (B)-(IV), (O)-(I), (D)-(II)

Options :

878270163213. 1

878270163214. 2

878270163215. 3

878270163216. 4

Question Number : 44 Question Id : 87827041561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
Ti-1 -1

(e faemes ) ( ITT &)
(A) rforE ) Ea-fasm
(B) i@k (I) AR
(C) Wr=RY (I11) Tafshem
(D) TS (IV) Hifaerame

= feu v fasredi § § 98 I F1 =94 S
(1) (A)(I), (B)-(1D), (O)-(I), (D)-(IV)

(2)  (A)-(ID), (B)-(1), (O)-(I), (D)-(IV)
(3) (A1), (B)-(D), (©O)-{), (D)-(IV)
4) (A1, (B)-(1V), (O-(1), (D)-(I1)

Options :

878270163213. 1
878270163214. 2
878270163215. 3

878270163216. 4

Question Number : 45 Question Id : 87827041562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - I

(Name of University) (Year of Establishment)
(A) Bombay University (I) 1916
(B) Delhi University (II) 1943
(C) Utkal University (Im) 1922

-,

(D) SN.D.T. Women University (IV) 1857

Choose the correct answer from the options g'wen below :

(1) (A)-(V), (B)-(IL), (C)-(ID), (D)-(I)
(2) (A1), (B)-(IV), (C)(1D), (D)-(0)
(3)  (A)-(IV), (B)-(I), (C)-(1), (D)-(IT)
(4)  (A)-(), (BI-(II), (C)-IV), (D)-(0)
Options :

878270163217. 1
878270163218. 2
878270163219. 3

878270163220. 4

Question Number : 45 Question Id : 87827041562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
ﬁ?ﬁ.l -11

( favafaemer & m) ( FRITOET oY )
(A) dirl favaforme (I) 1916
(B) feoeht favafammem (I) 1943
(C) Ichd Tavaia=med (1) 1922

(D) TH.UAELE. Hfgen fagafaemem (IV) 1857
= feu U fomredi § ¥ W& I N =999 HIfGT
(1) (A)-(IV), (B)-(IIL), (C)-(ID), (D)-(I)

(2)  (A)-(I), (B)-(IV), (C)-(1I), (D)-(D)

() (A)-(IV), (B)-(I), (O)-(T), (D)-(I)

(4) (A=), (B)-(11), (©)-(1V), (D)-(I)
Options :

878270163217. 1
878270163218. 2
878270163219. 3
878270163220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701739
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827041563 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow :

Science and the techniques to which it has given rise have changed human life during the
last hundred and fifty years more than it had been changed since men took to agriculture, and the
changes that are being wrought by science continue at an increasing speed. There is no sign of any
new stability to be attained on some scientific plateau. On the contrary, there is every reason to
think that the revolutionary possibilities of science extend immeasurably beyond what has so far
been realised. Can the human race adjust itself quickly enough to these vertiginous transformations,
or will it, as innumerable former species have done, perish from lack of adaptability? The dinosaurs
were, in their day, the lords of creation, and if there had been philosophers among them, not one
would have foreseen that the whole race might perish. But they became extinct because they
could not adapt themselves to a world without swamps. In the case of man and science there is a
wholly new factor, namely that man himself is creating the changes of environment to which he
will have to adjust himself with unprecedented rapidity. But, although man through his scientific
skill is the cause of the changes of environment, most of these changes are not willed by human
beings. Although they come about through human agencies, they have, or at any rate have had so
far, something of the inexorable inevitability of natural forces. Whether Nature dried up the swamps
or men deliberately drained them, makes little difference as regards the ultimate result. Whether
men will be able to survive the changes of environment that their own skill has brought about is an
open question. If the answer is in the affirmative, it will be known some day; if not, not. If the
answer is o be in the affirmative, men will have to apply scientific ways of thinking to themselves
and their institutions.

Sub questions

Question Number : 46 Question Id : 87827041564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dinosaurs became extinct because of :
(I) A massive earthquake
) Incessant rainfall
(3) Extreme cold
) Lack of adaptability
Options :
878270163221. 1
878270163222. 2
878270163223. 3

878270163224. 4



Question Number : 47 Question Id : 87827041565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the scientific age who is responsible for the changing environment ?

(1) Nature

(2) Man

(3) Natural Disasters
(4) Wars
Options :

878270163225. 1
878270163226. 2
878270163227.3
878270163228. 4

Question Number : 48 Question Id : 87827041566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The main focus of the passage is on :
(1) Extinchion of Species

(2) Extinction of Dinosaurs

(3) Science and Human life

(4) Destruction of Forests

Options :

878270163229. 1

878270163230. 2

878270163231. 3

878270163232. 4

Question Number : 49 Question Id : 87827041567 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i

“If the answer is in the affirmative .......... refers to the question related to :
(1) Changes in environment
(2)

(3) Human extinction

(4)

B!

Human survival

Changes in scientific approach
Options :

878270163233. 1

878270163234. 2

878270163235. 3

878270163236. 4

Question Number : 50 Question Id : 87827041568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to the passage the following are true :
A) Science is bringing about rapid changes.
B) There is every likelihood that a scientific plateau will be reached.

D) There are chances that mankind may become extinct due to lack of adaptability.

(
(
(C) Man will definitely perish like the Dinosaurs,
(
(

E) Changes in the environment made through human agencies have so far shown almost the
same inexorable inevitability as that of natural forces in the past.

Choose the correct answer from the options given below :
(I) (A), (D) and (E) Only

) (4),(8)and (E) Only

(3) (A) and (E) Only

(4) (B), (C) and (E) Only

Options :

878270163237. 1

878270163238. 2



878270163239. 3

878270163240. 4

Question Id : 87827041563 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827041564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) 99 Y&y

(2) R aui

(3) =RW/aATAfaE i

(4)  FTIFHAAEA HT FHHI
Options:

878270163221. 1
878270163222. 2
878270163223. 3

878270163224. 4

Question Number : 47 Question Id : 87827041565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 7 H waterer WiadA % fau #e SweEr € 2

(1) ¥

(2) HAIR/HTTE

(3) WM AT

(4) 95
Options:

878270163225. 1
878270163226. 2
878270163227.3

878270163228. 4

Question Number : 48 Question Id : 87827041566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TS <1 A e g fRa R ?
(1)  wsiicri A1 fereqw iRt

(2) EEAERT 1 e
(3) Taam &R wFa SfeA
(4) = = foAma

Options:

878270163229. 1
878270163230. 2
878270163231. 3
878270163232. 4

Question Number : 49 Question Id : 87827041567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 9FieRT ¥ qftEd

(2) TS ST

(3) WM faqwiew

(4) T T H gREd
Options :

878270163233. 1
878270163234. 2
878270163235. 3
878270163236. 4

Question Number : 50 Question Id : 87827041568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270163237. 1
878270163238. 2
878270163239. 3
878270163240. 4
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Section Id :

Section Number :

Section type:
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Number of Questions :
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Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

878270949
2

Online
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Sub-Section Number : 1

Sub-Section Id : 8782701740
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 51 Question Id : 87827041569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el s Y Yoadl R aad

(1) ¥
(2) feromy
(3) <

(4) e
Options :

878270163241. 1
878270163242. 2
878270163243. 3

878270163244. 4

Question Number : 51 Question Id : 87827041569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) @
(2) Torem
(3) =M

(4) we

Options:



878270163241. 1
878270163242. 2
878270163243. 3

878270163244. 4

Question Number : 52 Question Id : 87827041570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
HegranETg w4 fafgdafa ?
(1) Toerderee
(2)
(3) HEhEAEH
(4)
Options :
878270163245. 1
878270163246. 2
878270163247.3

878270163248. 4

Question Number : 52 Question Id : 87827041570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e yET F5 fafgdafa ?
(1) foadars

(2) AR

(3) HeprEaEH

(4) FNYTHARH

Options :



878270163245. 1
878270163246. 2
878270163247. 3

878270163248. 4

Question Number : 53 Question Id : 87827041571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i reeRTsTay Afa=miemn ward -

(1) °Rom:
(2) FEA:
(3) foad:
(4) AN
Options :

878270163249. 1
878270163250. 2
878270163251. 3

878270163252. 4

Question Number : 53 Question Id : 87827041571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

i seesRTsTan Afa=mismn wafd -

(1) 9Rm:
(2) &TeAE:
(3) faad:
(4) TEATY:

Options :



878270163249. 1
878270163250. 2
878270163251. 3

878270163252. 4

Question Number : 54 Question Id : 87827041572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRR e Ter wafa -
(1) CEhoEREAE9E:

(2) AcHEHEIE:

(3) weE:

(4) gy

Options :

878270163253. 1
878270163254. 2
878270163255. 3

878270163256. 4

Question Number : 54 Question Id : 87827041572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ARG e T safa -
(1) EEhoEREA9E:

(2) ARHEI:

(3) HaHwE:

(4) gI=:

Options :



878270163253. 1
878270163254. 2
878270163255. 3

878270163256. 4

Question Number : 55 Question Id : 87827041573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TrEafed a4 vafd -

(1) fa:

(2) IYE:

(3) SirerdrE

(4) STERHEITE
Options :

878270163257. 1
878270163258. 2
878270163259. 3

878270163260. 4

Question Number : 55 Question Id : 87827041573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AETed Sa vafd -
(1) i

(2) IYE:

(3) SirerEE

(4) ZYEIE

Options :



878270163257. 1
878270163258. 2
878270163259. 3

878270163260. 4

Question Number : 56 Question Id : 87827041574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

TeAHHId WeTae Al A&l Sd-HTS JEAd
(1) e

(2) STSTEcETRTIMET

(3) AlardeTaomE

(4)  FTHTTASIOTT
Options :

878270163261. 1
878270163262. 2
878270163263. 3

878270163264. 4

Question Number : 56 Question Id : 87827041574 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

TeAHHIT Wt Al T&TIT Sd=IHTH e ?
(1) SecEneaamE

(2) FSTECETdEIE
(3) AfarderarorE
(4) RTINSO

Options :



878270163261. 1
878270163262. 2
878270163263. 3

878270163264. 4

Question Number : 57 Question Id : 87827041575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

ol fgst: g’ soa gt fEered qHee fue: o wara ?
(1) A R

(2) FEE T G

(3) Wfqusiaar gl 7 GHEd
(4) U=
Options :

878270163265. 1
878270163266. 2
878270163267. 3

878270163268. 4

Question Number : 57 Question Id : 87827041575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

o fgs: g g R fastues wAmEe fae: & aEfd ?
(1) 4 o

(2) TN = TR FHE
(3) wfauefasrr vt 7 qeerd
(4) =

Options :



878270163265. 1
878270163266. 2
878270163267. 3

878270163268. 4

Question Number : 58 Question Id : 87827041576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

'EorhrEl’ s R YT Ve YEWANT: A I wafa 2

(1) TRy
(2) ST
(3) ewifcafam:
(4) svfed =
Options :

878270163269. 1
878270163270. 2
878270163271. 3

878270163272. 4

Question Number : 58 Question Id : 87827041576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘SorhrEl’ TR Ry Y Ve YETANT: A W wafa 2

(1) STSER<H
(2)  FHETEAH
(3) wHifcafTam:
(4) evafed =

Options :



878270163269. 1
878270163270. 2
878270163271. 3

878270163272. 4

Question Number : 59 Question Id : 87827041577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘T T '3 T WRAE ok WaIfd ?

=

(1 ¥

(2) =EASHE

(3) T TS
(4) Fga 9 ga=d
Options :

878270163273. 1
878270163274. 2
878270163275. 3

878270163276. 4

Question Number : 59 Question Id : 87827041577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘23 T '3 T WURA R aEfd ?

=

(H =

(2) EERASHH

(3)  TFTOT TSI,
(4) Tl = g

Options :



878270163273. 1
878270163274. 2
878270163275. 3

878270163276. 4

Question Number : 60 Question Id : 87827041578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o T gfasguifa’ soos faum’ g2 =qell favfe: &7 vafq ?
(1) Feargsar go: qeed i

(2) HRERIU GEEHEEAUET

(3) TegeiERHf fEdrarEgel SeEmEEA
(4) =t gEEE

Options :

878270163277. 1
878270163278. 2
878270163279. 3

878270163280. 4

Question Number : 60 Question Id : 87827041578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“forgra i gfasgonfa’ soos ‘fagm’ a2 =mqell favfe: 7 wafa?
(1) Feargsar go: qeed ol

(2) HRERIU FEEHHEAUETH
(3) AR fEdrarEgel SRrEmEaEA
(4) =efi TEEH

Options :



878270163277. 1
878270163278. 2
878270163279. 3

878270163280. 4

Question Number : 61 Question Id : 87827041579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

() &Y

(2) &9

(3) Heq

(4) YHHED
Options :

878270163281. 1
878270163282. 2
878270163283. 3

878270163284. 4

Question Number : 61 Question Id : 87827041579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(1) fay
(2) @
(3) weq
(4) YHHED

Options :



878270163281. 1
878270163282. 2
878270163283. 3

878270163284. 4

Question Number : 62 Question Id : 87827041580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) gferE-sa-waam

(2) gfE-s-

(3) gferElt-STE-aTAT

(4)  gferElt-Se-SfremesArg
Options :

878270163285. 1
878270163286. 2
878270163287. 3

878270163288. 4

Question Number : 62 Question Id : 87827041580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TS IUTES Hul R ?
(1) gferEi-sa-aTam
(2)  gfere—STe-dsTEre
(3)  gfre-Sret-amAR
(4)  gferelt-SrA-Siarer

Options :



878270163285. 1
878270163286. 2
878270163287. 3

878270163288. 4

Question Number : 63 Question Id : 87827041581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Eayde F: Gi-Te: ?

(1) H4m:

(2) HHATE:

(3) HYFEHEM:

(4) FHITHHATE:
Options :

878270163289. 1
878270163290. 2
878270163291. 3

878270163292. 4

Question Number : 63 Question Id : 87827041581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

NSy & Gi-Ted: ?
(1) H4m:

(2) HHAE:

(3) HYSREHE:

(4) FHIGHHATE:

Options :



878270163289. 1
878270163290. 2
878270163291. 3

878270163292. 4

Question Number : 64 Question Id : 87827041582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1)

(2) T
(3) qad
(4) =g
Options :

878270163293. 1
878270163294. 2
878270163295. 3

878270163296. 4

Question Number : 64 Question Id : 87827041582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(1)

(2) fsim
(3) qad
(4) =g

Options :



878270163293. 1
878270163294. 2
878270163295. 3

878270163296. 4

Question Number : 65 Question Id : 87827041583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘st TerteRm: | scafe ared faesie o S ?

(1) STeEIYreT
(2)  smeffsmEET
(3)  fasrem
(4) efarE;
Options :

878270163297. 1
878270163298. 2
878270163299. 3

878270163300. 4

Question Number : 65 Question Id : 87827041583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"SI TR S e fTE e o 3 ?

(1) ST
(2)  aneftymE
(3) fasrer
(4) edamE:

Options :



878270163297. 1
878270163298. 2
878270163299. 3

878270163300. 4

Question Number : 66 Question Id : 87827041584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

eI S YT gT9sh fafy: = ?

Options :

878270163301. 1
878270163302. 2
878270163303. 3

878270163304. 4

Question Number : 66 Question Id : 87827041584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

qeIS g gTash fafy: = ?

(1) SAgafary:
(2) Tremfafy:
(3)  ToTfEie:

(4) Taferefaty:

Options :



878270163301. 1
878270163302. 2
878270163303. 3

878270163304. 4

Question Number : 67 Question Id : 87827041585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"SitE ierfa’ seas weroi feemes ?
(1) difesEgey

(2) SgEHEEET

(3) WEUREETIEH

(4) AR

Options :

878270163305. 1
878270163306. 2
878270163307. 3

878270163308. 4

Question Number : 67 Question Id : 87827041585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

S e’ g e fapwefn 2
(1) difeEeaey

(2) ST

(3) HETEEETEH

(4) @ferpraen

Options :



878270163305. 1
878270163306. 2
878270163307. 3

878270163308. 4

Question Number : 68 Question Id : 87827041586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

! e AT e TEH YererE el o THerg o 3 o Sl 3% 7
(1)  WvEqsTerT=eA

(2) fervererR oS

(3) TR

(4) STEETSIE

Options :

878270163309. 1
878270163310. 2
878270163311. 3

878270163312. 4

Question Number : 68 Question Id : 87827041586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

! AR O T EAITHe TS Yar s e i THerrg o | 2fd o ST 3o/
1

f

e fertTor
AT

]

L

|

(
2
(
(4

)
)
)
)

Options :



878270163309. 1
878270163310. 2
878270163311. 3

878270163312. 4

Question Number : 69 Question Id : 87827041587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i JaeretOTTE, e WA ffed 7 e feRfenfela ! wiamn & s e ?

(1) fovamemforrm
(2) ST
(3) ST
(4) SEEAEE
Options :

878270163313. 1
878270163314. 2
878270163315. 3

878270163316. 4

Question Number : 69 Question Id : 87827041587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

i JaRTEOTTE, e WS ffed 7 T feRfeufefa " yiown o s e ?
(1 '
(2
(
{

|

oE

=

gj‘

—

x

|

CEE

)
)
)
4)

Options :



878270163313. 1
878270163314. 2
878270163315. 3

878270163316. 4

Question Number : 70 Question Id : 87827041588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

=TIHd M9 9afd -
(1) =Ry

(2) ®eH

(3) T

(4) ArfTeREey
Options :

878270163317. 1
878270163318. 2
878270163319. 3

878270163320. 4

Question Number : 70 Question Id : 87827041588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

=TI TYE Yafd -
(1) ARy
(2) ¥eH
(3) W
(4) AfTeREey

Options :



878270163317. 1
878270163318. 2
878270163319. 3

878270163320. 4

Question Number : 71 Question Id : 87827041589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" hTeATERI SY T REEhadl: YeRieEedd ' 3 e AT aEH
()
(2

(3

(4

i

)
)
)

Options :

878270163321. 1
878270163322. 2
878270163323.3

878270163324. 4

Question Number : 71 Question Id : 87827041589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

" RTATERI ST T gRE R Yearefareria ' 3 e AEEE T /
(1) vwEEEE

(2) TEIEEHS

(3) EEERE

(4) aWATEREE

Options :



878270163321. 1
878270163322. 2
878270163323. 3

878270163324. 4

Question Number : 72 Question Id : 87827041590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A FHA TR YOId] oh; ?
(1) TSRS

(2) ST
(3) TEEE-TOE]
(4) |
Options :

878270163325. 1
878270163326. 2
878270163327. 3

878270163328. 4

Question Number : 72 Question Id : 87827041590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AEFHA TR TOId] <h; ?
(1) TSRS

(2) VIRETEA:
(3) THEE-TOEE]
(4) W

Options :



878270163325. 1
878270163326. 2
878270163327. 3

878270163328. 4

Question Number : 73 Question Id : 87827041591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= far, fasre: wmr=e a1 o9 auedH fohad 751 & STerg: ?

(1)  safaeraiie:

(2) HHMEITR:

(3) HAAEE:

(4) =TSILa:
Options :

878270163329. 1
878270163330. 2
878270163331. 3

878270163332. 4

Question Number : 73 Question Id : 87827041591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T farr, fasry: wm=e o1 o3 guedH fohad 751 & oTerg: ?

(1)  safaeriie:
(2) HHMEITR:
(3) HAATEE:
(4) SATSRE(a:

Options :



878270163329. 1
878270163330. 2
878270163331. 3

878270163332. 4

Question Number : 74 Question Id : 87827041592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

IIfsreRT WA 32T A FAfeReadl 7 Haf< -

(1) <oaiaer:

(2) TSI

(3) RIS

(4) T=n:
Options :

878270163333. 1
878270163334. 2
878270163335. 3

878270163336. 4

Question Number : 74 Question Id : 87827041592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

IIfsreRT A 3= I FfeRaadl 7 Haf -

(1) <o
(2)  HTSIYe:
(3) RIS
(4) =

Options :



878270163333. 1
878270163334. 2
878270163335. 3

878270163336. 4

Question Number : 75 Question Id : 87827041593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) =AYFE

(2) TR FHEAF

(3) =TI

(4) T 9 IIad wH TgFIE
Options :

878270163337. 1
878270163338. 2
878270163339. 3

878270163340. 4

Question Number : 75 Question Id : 87827041593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e Ha foefee: 3=ad -

(1) =SAMRE

(2)  EE HHRAA]

(3) =ATAE

(4) TS IS FH TgEE

Options :



878270163337. 1
878270163338. 2
878270163339. 3

878270163340. 4

Question Number : 76 Question Id : 87827041594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SEETTE): WM AICS! Fd Tgavar: TSR M % SIS safd -

Options :

878270163341. 1
878270163342. 2
878270163343. 3

878270163344. 4

Question Number : 76 Question Id : 87827041594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

IR T AT Ft agavatc: STRRRA WM %: SR wafd -
(1)

Options :



878270163341. 1
878270163342. 2
878270163343. 3

878270163344. 4

Question Number : 77 Question Id : 87827041595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
v TehITEsE | e el wfema ?
(1) SUaEH
(2) 9dH
(3) ATSHE
(4) HEHE
Options :
878270163345. 1
878270163346. 2
878270163347.3

878270163348. 4

Question Number : 77 Question Id : 87827041595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T TeRITERE = e AEEdU TR ?
(1) S9amTes

(2) FI=A

(3) AsHE

(4) T

Options :



878270163345. 1
878270163346. 2
878270163347. 3

878270163348. 4

Question Number : 78 Question Id : 87827041596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) &I
(2) T
(3) =g
(4) I
Options :

878270163349. 1
878270163350. 2
878270163351. 3

878270163352. 4

Question Number : 78 Question Id : 87827041596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AT AT RO S T gfg: Hdl -
(1) TEom

(2) Tom

(3) =
(4) =TI

Options :



878270163349. 1
878270163350. 2
878270163351. 3

878270163352. 4

Question Number : 79 Question Id : 87827041597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

eI JAFmATd:; & A S 2

(1) SATENEATS:

(2) UAfTEEA:

(3) HdeNI=ME:

(4) HATdRIEA:
Options :

878270163353. 1
878270163354. 2
878270163355. 3

878270163356. 4

Question Number : 79 Question Id : 87827041597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
AT JaATATAT: o A St ?
(1) SATENEATE:

(2) wHETEEEA:
(3) SHTREAM:
(4) TAREIEAT:

Options :



878270163353. 1
878270163354. 2
878270163355. 3

878270163356. 4

Question Number : 80 Question Id : 87827041598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 12000
(2) 4800
(3) 3600
(4) 1200
Options :

878270163357. 1
878270163358. 2
878270163359. 3

878270163360. 4

Question Number : 80 Question Id : 87827041598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) 12000
(2) 4800
(3) 3600
(4) 1200
Options :

878270163357. 1



878270163358. 2
878270163359. 3

878270163360. 4

Question Number : 81 Question Id : 87827041599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SAIAUITES STAIfereTHE R e ST -
(1) dgHE:
(2) FHHYTE:
(3) SAIYE:
(4) EivmE:
Options :

878270163361. 1
878270163362. 2
878270163363. 3
878270163364. 4

Question Number : 81 Question Id : 87827041599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

N T ——
(1) dgHE:
(2) FHHYE:
(3) E9E:
(4) EivmeE:
Options:

878270163361. 1



878270163362. 2
878270163363. 3

878270163364. 4

Question Number : 82 Question Id : 87827041600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ek U9 wHY: feafasiata -

(1) THadq =raq

(2) UhieH A

(3) % fe =

(4) 2% e amEd
Options :

878270163365. 1
878270163366. 2
878270163367. 3
878270163368. 4

Question Number : 82 Question Id : 87827041600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e EA el = feafasfeta -

(1) ety AT

(2) UshHfeA FEq

@ 2 i

(4) 2% T e
Options:

878270163365. 1
878270163366. 2
878270163367. 3
878270163368. 4

Question Number : 83 Question Id : 87827041601 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qad vUE: & ?

(1) ===
(2) HITEE:
(3) EUe:
(4) TRUE:
Options :

878270163369. 1
878270163370. 2
878270163371. 3
878270163372. 4

Question Number : 83 Question Id : 87827041601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A vEUE: % 7

(1) ==l
(2) HIHRE:
(3) dHUE
(4) IERUE:
Options :

878270163369. 1
878270163370. 2
878270163371. 3
878270163372. 4

Question Number : 84 Question Id : 87827041602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YeAlHHIeYEaR favafafsed: &: ?

(1) o= fafa:

(2) W= fafa:

(3)  Hfad=n f=fd:

(4) e e
Options :

878270163373. 1
878270163374. 2
878270163375. 3

878270163376. 4

Question Number : 84 Question Id : 87827041602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) a1 f=fd

(2) W= =

(3)  wfad=n fafa

(4) exen fafa
Options :

878270163373. 1
878270163374. 2
878270163375. 3
878270163376. 4

Question Number : 85 Question Id : 87827041603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) HHgHS

(2) R

(3) HrEE

(4) ST
Options :

878270163377. 1
878270163378. 2
878270163379. 3

878270163380. 4

Question Number : 85 Question Id : 87827041603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) HHgHS

(2) IR

(3) HraE

(4) S
Options :

878270163377. 1
878270163378. 2
878270163379. 3
878270163380. 4

Question Number : 86 Question Id : 87827041604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SR T4 wfafaH: ?

(1) ffae:

(2) =dfEH:

(3) fefam:

(4) oA
Options :

878270163381. 1
878270163382. 2
878270163383. 3

878270163384. 4

Question Number : 86 Question Id : 87827041604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST T9: Ffafasr ?
(1) ffEe:

(2 =g

(3) Tfgfae:

(4) geAfEH:;
Options :

878270163381. 1
878270163382. 2
878270163383. 3

878270163384. 4

Question Number : 87 Question Id : 87827041605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

srEEfe gefa —
(1) *=h-:

(2) G

(3) fsre

(4) 4
Options :

878270163385. 1
878270163386. 2
878270163387. 3

878270163388. 4

Question Number : 87 Question Id : 87827041605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

srEEe vafa —
(1) *=hH:

(2) Hell:

(3) Fsr:

(4) g%
Options :

878270163385. 1
878270163386. 2
878270163387. 3
878270163388. 4

Question Number : 88 Question Id : 87827041606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270163389. 1
878270163390. 2
878270163391. 3

878270163392. 4

Question Number : 88 Question Id : 87827041606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fooraEEHAES Rl 9 Ras i Ye v FHYesad ?
(1) grorgelfor
(2) g
(3) et
(4)  FTAITHATHT
Options :

878270163389. 1
878270163390. 2
878270163391. 3
878270163392. 4

Question Number : 89 Question Id : 87827041607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

SATFH T[T HEA AT SEH: |
B GLIEIE-RIPIE I il

Options :

878270163393. 1
878270163394. 2
878270163395. 3

878270163396. 4



Question Number : 89 Question Id : 87827041607 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SHATFH IR A Hed SHedIS8q: |
YHTATZarg = qea:  IHA
375 e gqf=n 9¢ f=dd -

(1) &9

Options :

878270163393. 1
878270163394. 2
878270163395. 3

878270163396. 4

Question Number : 90 Question Id : 87827041608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

faroom: Semaany Squfaaran w@ifshad-

(1) OEEM:
(2) P
(3) de:
(4) e

Options :

878270163397. 1
878270163398. 2
878270163399. 3



878270163400. 4

Question Number : 90 Question Id : 87827041608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) HIEH:
(2) FL
(3) He:
(4) HrEE:

Options :

878270163397. 1
878270163398. 2
878270163399. 3

878270163400. 4

Question Number : 91 Question Id : 87827041609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR - UI0TE SISO ST ef< -
(A)

(B) dfa:

(C) oreq;
(D) HEq
(E) yfem:

(1) (A), (B), (E) FaeH

-

(2)  (A), (B), (D) Faer
)

3) (B), (C), (D) e
4) (B), (D), (E) Faeq
Options:

878270163401. 1
878270163402. 2
878270163403. 3
878270163404. 4

Question Number : 91 Question Id : 87827041609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AR - UI0TE SISO ST ef< -
(A)

(B) dfa:

(C) oreq;
(D) HEq
(E) yfem:

(1) (A), (B), (E) FaeH

-

(2)  (A), (B), (D) Faer
)

3) (B), (C), (D) e
4) (B), (D), (E) Faeq
Options:

878270163401. 1
878270163402. 2
878270163403. 3
878270163404. 4

Question Number : 92 Question Id : 87827041610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U YTehd-—H7e s fada-
(A) SfTHT:

(B) SRIFRT:

(C) seErE:

(D) ferouger:

(E) 379LH:

=
-,

(1) (A), (B), (D) eIy

(2) (B), (O), (D) %eer
3) (O), (D), (E) e
4) (A), (B), (C) hae

Options:

878270163405. 1
878270163406. 2
878270163407. 3
878270163408. 4

Question Number : 92 Question Id : 87827041610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U YTehd-—H7e s fada-
(A) SfTHT:

(B) SRIFRT:

(C) seErE:

(D) ferouger:

(E) 379LH:

=
-,

(1) (A), (B), (D) eIy

(2) (B), (O), (D) %eer
3) (O), (D), (E) e
4) (A), (B), (C) hae

Options:

878270163405. 1
878270163406. 2
878270163407. 3
878270163408. 4

Question Number : 93 Question Id : 87827041611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



q§: ety gfiamwed -
(A) @Edaq
(B) HH:

(C) <=

(D) Tgadq

(E) E=m:

=
-,

(1) (A), (B), (D) eIy

2) (), (D), (E) %eery
(3) (A), (B), (C) e
4) (B), (C), (D) e

Options:

878270163409. 1
878270163410. 2
878270163411. 3
878270163412. 4

Question Number : 93 Question Id : 87827041611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



q§: ety gfiamwed -
(A) @Edaq
(B) HH:

(C) <=

(D) Tgadq

(E) E=m:

=
-,

(1) (A), (B), (D) eIy

2) (), (D), (E) %eery
(3) (A), (B), (C) e
4) (B), (C), (D) e

Options:

878270163409. 1
878270163410. 2
878270163411. 3
878270163412. 4

Question Number : 94 Question Id : 87827041612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I 0Ty GRATEd -
(A) Tfs:

(B) ITETHR:

(C) ¥

(D) ¥

(E) amH

-

(D) (©), (D), (E) =deq

-

() (A), (B), (D) ety
(3) (B), (D), (E) Faaq
4 (A), (B), (C) Faem
Options:

878270163413. 1
878270163414. 2
878270163415. 3

878270163416. 4

Question Number : 94 Question Id : 87827041612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I 0Ty GRATEd -
(A) Tfs:

(B) ITETHR:

(C) ¥

(D) ¥

(E) amH

-

(D) (©), (D), (E) =deq

-

() (A), (B), (D) ety
(3) (B), (D), (E) Faaq
4 (A), (B), (C) Faem
Options:

878270163413. 1
878270163414. 2
878270163415. 3

878270163416. 4

Question Number : 95 Question Id : 87827041613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST HaEEy I -

(A) S

(B) HTA:

(C) d:

(D) ®9q

(E) =redfa:

(1) (A), (B), (C) %o
2 (Q), (D), (E) %oy
(3) (B), (D), (E) I
4)  (A), (©), (E) Faem
Options:

878270163417. 1
878270163418. 2
878270163419. 3

878270163420. 4

Question Number : 95 Question Id : 87827041613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST HaEEy I -

(A) S

(B) HTA:

(C) d:

(D) ®9q

(E) =redfa:

(1) (A), (B), (C) %o
2 (Q), (D), (E) %oy
(3) (B), (D), (E) I
4)  (A), (©), (E) Faem
Options:

878270163417. 1
878270163418. 2
878270163419. 3

878270163420. 4

Question Number : 96 Question Id : 87827041614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST TTerH qTETod Ifefore -
(A) I

(B) ®H

(C) H7:

(D) =

(E) HHE:

(1) (A), (B) FeeT

@ (O, (D) Faeq
3) (D), (E) Feem
4 (A), (B) Faem
Options:

878270163421. 1
878270163422. 2
878270163423. 3

878270163424. 4

Question Number : 96 Question Id : 87827041614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) I

(B)

(C) HI=:

(D) af:

(E) HHME:

(1)  (A), (B) e
@ (O, (D) Faeq
3) (D), (E) Feem
4 (A), (B) Faem
Options:

878270163421. 1
878270163422. 2
878270163423. 3

878270163424. 4

Question Number : 97 Question Id : 87827041615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

FHfEd U T -

(A) &yEaia: sAfafHfeasafiae deisfa

(B) WifdedaRa: sisawaias deIsfa

(C) &YERE: TRRGRRIATTTIHATT=S

D) TERAM T ISEE SR Yo

BT iiﬂaﬁ_ e En"Felﬁ_ Hﬂi;':'l?-ll:l W 9 -
(1) (A), (B) FaeH
@ (A), (C) Faaq
(3) (B), (C) FoeTq
4) (C), (D) Faeq



Options :

878270163425. 1
878270163426. 2
878270163427.3

878270163428. 4

Question Number : 97 Question Id : 87827041615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
qHf=rd e forga -
(A) v sfufHfeaaiaer g<sfa
(B) Wifdeaeafia: snfgawaias deista
(C) HYEd: FRRERN AT HAN =

AR T I ST Yl

sfafaEdy fosredy wfaad s =0
(1) (A), (B) FaTH

@ (A), (©) Faeq
(3) (B), (C) F=eq
4 (), (D) Faaq
Options:

878270163425. 1
878270163426. 2
878270163427. 3

878270163428. 4

Question Number : 98 Question Id : 87827041616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



srefemefereRTr fagd -
(A) TR,
(B) SRR

(C) SAfsRHI

(D) Ty

(E) eEH:

(1)  (A), (B) e

(2) (B), (C) Foeq

3)  (A), (E) Faem
)

(4) (D), (E) Fem
Options:
878270163429. 1
878270163430. 2
878270163431. 3

878270163432. 4

Question Number : 98 Question Id : 87827041616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



srefemefereRTr fagd -
(A) TR,
(B) SRR

(C) SAfsRHI

(D) Ty

(E) eEH:

(1)  (A), (B) e

(2) (B), (C) Foeq

3)  (A), (E) Faem
)

(4) (D), (E) Fem
Options:
878270163429. 1
878270163430. 2
878270163431. 3

878270163432. 4

Question Number : 99 Question Id : 87827041617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HEZHATHR TOTERITASTOTE]: TOEEAedH=E: = 3emeto fHdd -
(A) T

(B) TireIere:
(C) SLeRH
(D) T
() ST

(1) (A), (B) haem

=

@ (), (E) Fae
3) (B), (E) Faem
(4)  (B), (D) FeeH
Options:

878270163433. 1
878270163434. 2
878270163435. 3
878270163436. 4

Question Number : 99 Question Id : 87827041617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HEZHATHR TOTERITASTOTE]: TOEEAedH=E: = 3emeto fHdd -
(A) T

(B) TireIere:
(C) SLeRH
(D) T
() ST

(1) (A), (B) haem

=

@ (), (E) Fae
3) (B), (E) Faem
(4)  (B), (D) FeeH
Options:

878270163433. 1
878270163434. 2
878270163435. 3
878270163436. 4

Question Number : 100 Question Id : 87827041618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



tifeefass ey fagd -

(A) FIERETH
(B) SHYUCTHdH
(C) Se=hel

(D) SIS ATGIaRT
() Frrmmgeeafm
(1) (A), (B) Foq

=

2 (B), (B) Faem
3) (), (D) Faaq
4) (D), (E) Faem
Options:

878270163437. 1
878270163438. 2
878270163439. 3
878270163440. 4

Question Number : 100 Question Id : 87827041618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



—
=,
Kol 8]
X
A
E
&
af
A
'
3

(1)  (A), (B) e
2 (B), (B) Faem
3) (), (D) Faaq
4) (D), (E) Faem

Options:

878270163437. 1
878270163438. 2
878270163439. 3
878270163440. 4

Question Number : 101 Question Id : 87827041619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

srefafady foereay wHfead s =0
(1)  (A), (B) oo™

(2) (B), (C) FoTH
(3) (Q), (D) ey
4) (A), (C) FaTH



Options :

878270163441. 1
878270163442. 2
878270163443. 3

878270163444. 4

Question Number : 101 Question Id : 87827041619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frearsTeRT=nere Ffagd faqa -

(A)  TTETeRd

(B) SEIIdHY

(C) SATISROM

(D) WAHAEATETEETH

(1) (A), (B) oM

() (B), (C) ket
3) (O, (D) FaeH
(4) (A), (C) FerTq

Options:

878270163441. 1
878270163442. 2
878270163443. 3

878270163444. 4

Question Number : 102 Question Id : 87827041620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et —afEEar: S e -
(A) Tashey:

(B) g

(C) Tfaga:

(D) T

(E) Hwa:

(1) (A), (B) FeeT

(2) (A), (C) e

3)

(3) (B), (D) oo
(4) (D), (E) shee™
Options:

878270163445. 1
878270163446. 2
878270163447. 3
878270163448. 4

Question Number : 102 Question Id : 87827041620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et —afEEar: S e -
(A) Tashey:

(B) g

(C) Tfaga:

(D) T

(E) Hwa:

(1) (A), (B) FeeT

(2) (A), (C) e

3)

(3) (B), (D) oo
(4) (D), (E) shee™
Options:

878270163445. 1
878270163446. 2
878270163447. 3
878270163448. 4

Question Number : 103 Question Id : 87827041621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



favamya SEaEHey 9T -
(A)  SHEHIYME:

(B) UMIYME:

(C) WeEHTYE:

(D) I

(E) Sfcg=aima:

-

(D) (©), (D), (E) =dicq

-

(2) (A), (B), (C) Fawm
3) (B), (O), (E) FaeH
(4) (B), (D), (E) Faeq
Options:

878270163449. 1
878270163450. 2
878270163451. 3
878270163452. 4

Question Number : 103 Question Id : 87827041621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



favamya SEaEHey 9T -
(A)  SHEHIYME:

(B) UMIYME:

(C) WeEHTYE:

(D) I

(E) Sfcg=aima:

-

(D) (©), (D), (E) =dicq

-

(2) (A), (B), (C) Fawm
3) (B), (O), (E) FaeH
(4) (B), (D), (E) Faeq
Options:

878270163449. 1
878270163450. 2
878270163451. 3
878270163452. 4

Question Number : 104 Question Id : 87827041622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FoTeEauarddey afemad -

(A) T

(B) ferora:

(C) e

(D) HHE:

(E) THoreeems

sferfEay ooy wafer S = -
(1) (A), (B), (C) %o
(2) (O, (D), (E) e
(3) (A), (B), (D) FaH
4)  (B), (D), (E) Faaq
Options:

878270163453. 1
878270163454, 2
878270163455. 3

878270163456. 4

Question Number : 104 Question Id : 87827041622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FoTeEauarddey afemad -

(A) T

(B) ferora:

(C) e

(D) HHE:

(E) THoreeems

sferfEay ooy wafer S = -
(1) (A), (B), (C) %o
(2) (O, (D), (E) e
(3) (A), (B), (D) FaH
4)  (B), (D), (E) Faaq
Options:

878270163453. 1
878270163454, 2
878270163455. 3

878270163456. 4

Question Number : 105 Question Id : 87827041623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Y8 AT -
(A) HF

(B) @@
(C) Traerdt

(D) =il

(E) Tadadi

(1) (A), (©), (E) Faem
2) (B), (O), (D) Feemq
3) (©), (D), (E) Faem
4)  (B), (C), (E) *Fae
Options:

878270163457. 1
878270163458. 2
878270163459, 3

878270163460. 4

Question Number : 105 Question Id : 87827041623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Y8 AT -
(A) HF

(B) @@
(C) Traerdt

(D) =il

(E) Tadadi

(1) (A), (©), (E) Faem
2) (B), (O), (D) Feemq
3) (©), (D), (E) Faem
4)  (B), (C), (E) *Fae
Options:

878270163457. 1
878270163458. 2
878270163459, 3

878270163460. 4

Question Number : 106 Question Id : 87827041624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Ieewy o ?

(A) i

(B) W&

(C) Traml:

(D) Y92

(E) Y=

(1) (A), (), (E) Faem
2 (B), (D), (A) FaeTH
3) (©), (D), (E) Faem
4 (A), (B), (C) Faem
Options:

878270163461. 1
878270163462. 2
878270163463. 3

878270163464. 4

Question Number : 106 Question Id : 87827041624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



AT Ieewy o ?

(A) i

(B) W&

(C) Traml:

(D) Y92

(E) Y=

(1) (A), (), (E) Faem
2 (B), (D), (A) FaeTH
3) (©), (D), (E) Faem
4 (A), (B), (C) Faem
Options:

878270163461. 1
878270163462. 2
878270163463. 3

878270163464. 4

Question Number : 107 Question Id : 87827041625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SgaTd Foradey femad -

(A) HHEHYAY:

(B) TAcagera:

(C) WrFHddE:

(D) WUEYTTT:

(E) Hfafasgea:

(1) (B), (D), (E) @y
(2

3

(C), (D), (E) Feeq
(

)
) (B), (C), (E) Faem
4 (A), (B), (C) Faem
Options:
878270163465. 1
878270163466. 2
878270163467. 3

878270163468. 4

Question Number : 107 Question Id : 87827041625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SgaTd Foradey femad -

(A) HHEHYAY:

(B) TAcagera:

(C) WrFHddE:

(D) WUEYTTT:

(E) Hfafasgea:

(1) (B), (D), (E) @y
(2

3

(C), (D), (E) Feeq
(

)
) (B), (C), (E) Faem
4 (A), (B), (C) Faem
Options:
878270163465. 1
878270163466. 2
878270163467. 3

878270163468. 4

Question Number : 108 Question Id : 87827041626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teemdifd g TE-FAUREvEIEiE Tafd | 939 TreEd aafd -
(A) HHMAT RIS

(B) e ETRIEaHE: |

(Q) faerurfaer e+

(D) forafaufivresrars:

(E) TIeAJUTEva-;

(1)  (A), (B), (C) Fae™
(2) (A), (©), (B) Fawm
3) (), (D), (E) Fawm
4)  (B), (D), (E) o]
Options:

878270163469. 1
878270163470. 2
878270163471. 3

878270163472. 4

Question Number : 108 Question Id : 87827041626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teemdifd g TE-FAUREvEIEiE Tafd | 939 TreEd aafd -
(A) HHMAT RIS

(B) e ETRIEaHE: |

(Q) faerurfaer e+

(D) forafaufivresrars:

(E) TIeAJUTEva-;

(1)  (A), (B), (C) Fae™
(2) (A), (©), (B) Fawm
3) (), (D), (E) Fawm
4)  (B), (D), (E) o]
Options:

878270163469. 1
878270163470. 2
878270163471. 3

878270163472. 4

Question Number : 109 Question Id : 87827041627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRR HA A S eheTeR =Ty IfeToaT -
(A) ©A:

(B) &

(C) wuE:

(D) THEER:

(E) I

() (A), (B), (C) e

-

2) (), (D), (E) %eer
3)

=

(3) (A), (B), (E) Faeq
4) (A), (C), (D) Faaq
Options:

878270163473. 1
878270163474. 2
878270163475. 3
878270163476. 4

Question Number : 109 Question Id : 87827041627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SRR HA A S eheTeR =Ty IfeToaT -
(A) ©A:

(B) &

(C) wuE:

(D) THEER:

(E) I

() (A), (B), (C) e

-

2) (), (D), (E) %eer
3)

=

(3) (A), (B), (E) Faeq
4) (A), (C), (D) Faaq
Options:

878270163473. 1
878270163474. 2
878270163475. 3
878270163476. 4

Question Number : 110 Question Id : 87827041628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



RIS iRt ¥ad: -
(A) FFM

(B) WAHH

©) TFH

(D) Tercferm

(E) STFEEH

(1)  (A), (B) e

2 (A), (O FIH

(3) (B), (D), (E) %I

4 (©), (D), (E) Faem
Options:
878270163477. 1
878270163478. 2
878270163479. 3

878270163480. 4

Question Number : 110 Question Id : 87827041628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



STEA =T Gfsadqaio sad: -

(A) FFH
(B) WerishH

(C) T

(D) Frreri

(E) sTF=q
sfafay fasreTy Tefeed ST fodq
(1)  (A), (B) e

@ (A), (O Faaq

(3) (B), (D), (E) FaIaq

4 (O, (D), (E) Faem

Options:

878270163477. 1
878270163478. 2
878270163479. 3

878270163480. 4

Question Number : 111 Question Id : 87827041629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

el o fere -

(A) TEIEIHUR: a0 fHeA:

(B) HIRA YAl Fdd F:

(C) FETqd: JaE! g unfa:

(D) El: 99E: add TEvi;

srefafady foereay wHfead s =0

(1) (A), (B), (C) FaTH

=,

-

2 (A), (B), (D) Foaq
(3) (B), (C), (D) FaeH
@) (O, (D), (A) Feeq



Options :

878270163481. 1
878270163482. 2
878270163483. 3

878270163484. 4

Question Number : 111 Question Id : 87827041629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
S lr?l_'ff B
(A)  JEIEIHRURM: Fad fHeA:
(B) IR FAME Fdd F:
(C) F&TId: Tl Idd qrfa:
(D) T@l: T91E: add TE;
B . . Wﬁiﬂﬁ
(1) (A), (B), (C) FaTH

™

2) (A), (B), (D) FeerH
(3) (B), (O), (D) %eer

-

4) (©), (D), (A) HacHq
Options:
878270163481. 1
878270163482. 2
878270163483. 3

878270163484. 4

Question Number : 112 Question Id : 87827041630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el famEaey qfemgd -

(A) e
(B) IfHE:
(C) Bu:
(D) T
(E) @®:

(1) (A), (B), (E) ey
(2) (A), (B), (C) Faw
3) (Q), (D), (E) Faem
(4)  (B), (D), (E) %™
Options:

878270163485. 1
878270163486. 2
878270163487. 3

878270163488. 4

Question Number : 112 Question Id : 87827041630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el famEaey qfemgd -

(A) e
(B) IfHE:
(C) Bu:
(D) T
(E) @®:

(1) (A), (B), (E) ey
(2) (A), (B), (C) Faw
3) (Q), (D), (E) Faem
(4)  (B), (D), (E) %™
Options:

878270163485. 1
878270163486. 2
878270163487. 3

878270163488. 4

Question Number : 113 Question Id : 87827041631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wATTfef T ferea -
(A) TaFH
(B) ¥MH
(C) g
(D) &
(E) faumh
(1) (A), (B) AT

=

(2 (B), (C) ey
3) (), (D) Faaq
4) (D), (E) Faem
Options:

878270163489. 1
878270163490. 2
878270163491. 3
878270163492. 4

Question Number : 113 Question Id : 87827041631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wATTfef T ferea -
(A) TaFH
(B) ¥MH
(C) g
(D) &
(E) faumh
(1) (A), (B) AT

=

(2 (B), (C) ey
3) (), (D) Faaq
4) (D), (E) Faem
Options:

878270163489. 1
878270163490. 2
878270163491. 3
878270163492. 4

Question Number : 114 Question Id : 87827041632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hrpaskafa=AT: Fiagd o -
(A) Hrar=ia
(B) SIHeRISHETH

(C) “RSIFIRTIRORE=R]

(D) WS

(E) Sraaditasay

sfafay fosreTy Tefamd ST o
(1) (A), (D) Feem

=

() (B), (C) FeeTy
3) (), (D) Faaq
4) (D), (E) Faem
Options:

878270163493. 1
878270163494. 2
878270163495. 3
878270163496. 4

Question Number : 114 Question Id : 87827041632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) Hrarafay

(B) SIHeRISHETH

(C) “RSIFIRTIRORE=R]
(D) AYTSEaR

(E) STaadifasay
(1)  (A), (D) Fae™
() (B), (C) FeeTy
3) (), (D) Faaq
4) (D), (E) Faem
Options:

878270163493. 1
878270163494. 2
878270163495. 3
878270163496. 4

Question Number : 115 Question Id : 87827041633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e e foa -

(1) (A), (B) TawH
2) (B), (C) ey

)
(3) (Q), (D) ey
4) (A), (D) FaeHq



Options :

878270163497. 1
878270163498. 2
878270163499. 3

878270163500. 4

Question Number : 115 Question Id : 87827041633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e e fad -
(A) FHfaewmEn: <oFar 1f+: i
(B) g SEdl Ug: o
(C) geHl: ol geefd: odd
(D) Termmen: <o fovasrnt axdd
sfafaEdy fosredy wfaad s =00
() (A), (B) FaeH
(2) {
() (O, (D) e

(4) (A), (D) FwIaH

=

=

(B), (C) =haciH

Options:

878270163497. 1
878270163498. 2
878270163499. 3

878270163500. 4

Question Number : 116 Question Id : 87827041634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Taf=d HerEd —

-1 gei-11
(A) erefa: () ArTEREE:
(B)  rcHEATq: (II) =rfare:
(C) TAUTEAT: (IIl) wTeATHFAE:
(D) sTEEAT: (IV) GHIRTHAIE S
swiferfiaty foei wfermm s oo -

() (A1), (B)-(ILD), (©O)-IV), (D)-()
(2) (A, (B)-(D), (C)-(L), (D)-(IV)
() (AHIV), (B)-(1T), (O)-(I1]), (D)-(I)
(4)  (AHIV), (B)(D), (C)-(1I), (D)-(I1D)

Options:

878270163501. 1
878270163502. 2
878270163503. 3

878270163504. 4

Question Number : 116 Question Id : 87827041634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gufed feEd —

-1 geit-11
(A) aTEf: () ArTERES:
(B) aTeHEAG: (II) ==rfae:
(C) e (1) weAfFaTs:
(D) aTEcEAfa: (IV) GHTHTHIATE
seifefia forepeiy wfermm 3w o

() (A1), (B)-(ILD), (O)-AV), (D)-()
(2) (A, (B)-(L), (C)-(L), (D)-(IV)
() (AHIV), (B)-(1L), (O)-(I1T), (D)-(I)
4)  (AHIV), (B)(D), (C)-(IT), (D)-(I1D)



Options :

878270163501. 1
878270163502. 2
878270163503. 3
878270163504. 4

Question Number : 117 Question Id : 87827041635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gyfad Herad —
Til-1 geit-11
T-LT: T-eIhT:
(A) SraeRferR WERLEILES
(B) ST (1) favesy:
(C) dRfEEE: (1) SHcemE:
(D) ETEThIEl (IV) grerfor:

afferfady fosreuy wfeaay sw =0
(1) (A1), (B)-(I), (C)-(IV), (D)-(L)
(2)  (A)-(I), (CO)-(IL), (B)-(I1I), (D)-(IV)

(3) (A, (B)-(1V), (O)(1L), (D)-(L)
(4)  (A)-(IV), (B)-(II), (O)-(I), (D)-(IT)

Options:

878270163505. 1
878270163506. 2
878270163507. 3
878270163508. 4

Question Number : 117 Question Id : 87827041635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

o Herdd —
-1 geit-11
T=ET: PR CARIE
(A) SITehfcTeh] (n fe=fas:
(B) ST (I favesy:
(C) dRfEREE: (I e
(D) WTEBhIEl (IV) grerfor:

(1) (A, (B)-(), (©)-IV), (D)-{I)
(2)  (A)(D), (O)-(1), (B)-(LLT), (D)-(1V)
(3)  (A)-(), (B)-(1V), (O)-(11), (D)-(1)
(4)  (A)-1V), (B)-(L), (CO)-(1), (D)-(IT)

Options :

878270163505. 1
878270163506. 2
878270163507. 3

878270163508. 4

Question Number : 118 Question Id : 87827041636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Taf=d HerEd —

-1 geit-11
ET: T
(A)  HIUFEIE ) 9WeE:
(B)  SifHefegmET () =RTaE:
(C) TshermE (IT) OIS
(D) heumEl (IV) Yeraes:
sreiferfiary ferepey wfemm s fo -

(1) (A1), (B)-(1), (O)-(I), (D)-(IV)
(2)  (A)IV), (B)-(I), (C)-(IT), (D)-(IL)
() (A)MD), (B)(IV), (C)-(I), (D)-(IT)
(4) (A, (B)-(1), (O)-(1V), (D)-(ID)

Options:

878270163509. 1
878270163510. 2
878270163511. 3

878270163512. 4

Question Number : 118 Question Id : 87827041636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Taf=d HerEd —

-1 geit-11
ET: T
(A)  HIUFEIE ) 9WeE:
(B)  SifHefegmET () =RTaE:
(C) TshermE (IT) OIS
(D) heumEl (IV) Yeraes:
sreiferfiary ferepey wfemm s fo -

(1) (A1), (B)-(1), (O)-(I), (D)-(IV)
(2)  (A)IV), (B)-(I), (C)-(IT), (D)-(IL)
() (A)MD), (B)(IV), (C)-(I), (D)-(IT)
(4) (A, (B)-(1), (O)-(1V), (D)-(ID)

Options:

878270163509. 1
878270163510. 2
878270163511. 3

878270163512. 4

Question Number : 119 Question Id : 87827041637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Taf=d HerEd —

-1 -11
Beal At T W&

(A) el (D 43

(B) Sforg (I) 28

(C) Al (Il) 36

(D) Frgfargy (IV) 68

afferfady fosreuy wfeay sw =0

(1) (A, (B)-(ILL), (O)-(1V), (D)-(I1)
(2) (A, (B)(11), (©)-(IV), (D)-(I)
(3) (A, (B)-(1), (O-(1), (D)-(IV)
(4)  (A-IV), (B)-(IIL), (O)-(1D), (D)-(I)

Options:

878270163513. 1
878270163514. 2
878270163515. 3
878270163516. 4

Question Number : 119 Question Id : 87827041637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Taf=d HerEd —

-1 -11
Beal At T W&

(A) el (D 43

(B) Sforg (I) 28

(C) Al (Il) 36

(D) Frgfargy (IV) 68

afferfady fosreuy wfeay sw =0

(1) (A, (B)-(ILL), (O)-(1V), (D)-(I1)
(2) (A, (B)(11), (©)-(IV), (D)-(I)
(3) (A, (B)-(1), (O-(1), (D)-(IV)
(4)  (A-IV), (B)-(IIL), (O)-(1D), (D)-(I)

Options:

878270163513. 1
878270163514. 2
878270163515. 3
878270163516. 4

Question Number : 120 Question Id : 87827041638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -11

el i
(A) SIRISEER: () “TeERETg=EY
(B) TFoIgIER: (1) fesmEETETy
(C) TETw: (IIT) FEAIETH
(D) SAETHIIUE: (IV) Hp~<HTeAl
srifefery feerery wmfer 3w foda

(1) (A, (B)-(1V), (O)-(1), (D)-(1)
(2)  (A)IV), (B)-(IIL), (CO)-(), (D)-(IT)
(3) (A1), (B)-(1), (CO)-(I), (D)-(IV)
(4) (A, (B)-(1), (O)-(1V), (D)-(ID)

Options:

878270163517. 1
878270163518. 2
878270163519. 3

878270163520. 4

Question Number : 120 Question Id : 87827041638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 -1

el i
(A) SRT=ISEER: () “TeERETg=EY
(B) TFoIgIER: (1) TeamEETETy
(Q) TEIw: (Ill) FAEETIZTH,
(D) SAETHIIUE: (IV) Hep—<HTeN

(1) (A, (B)-(1V), (O)-(1), (D)-(1)
(2)  (A)IV), (B)-(IIL), (CO)-(), (D)-(IT)
(3) (AN, (B)-(1), (O)-(IL), (D)-(IV)
(4) (A, (B)-(1), (O)-(1V), (D)-(ID)

Options:

878270163517. 1
878270163518. 2
878270163519. 3

878270163520. 4

Question Number : 121 Question Id : 87827041639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) f2rE Sarfa, ar] vafa () TRITHEe:

(B) wMH FSifa, aA9d gsifd (1) gfeshm:
(C) =% Fean afg HUfa (III) SAfFH
(D) ¥ qYAH (IV) HISH:

(1) (A1), (B)-(111), (O)-(V), (D)-(1)
(2)  (A)-(I), (B)-(1V), (C)-(11), (D)-(T)
(3) (AN, (B, (O-(1V), (D)-(I)
(4)  (A)-IV), (B)-(1L), (O)-(I), (D)-(I1D)

Options:

878270163521. 1
878270163522. 2
878270163523. 3

878270163524. 4

Question Number : 121 Question Id : 87827041639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) f2rE Sarfa, ar] vafa () TRITHEe:

(B) wMH FSifa, aA9d gsifd (1) gfeshm:
(C) =% Fean afg HUfa (III) SAfFH
(D) ¥ qYAH (IV) HISH:

(1) (A1), (B)-(111), (O)-(V), (D)-(1)
(2)  (A)-(I), (B)-(1V), (C)-(11), (D)-(T)
(3) (AN, (B, (O-(1V), (D)-(I)
(4)  (A)-IV), (B)-(1L), (O)-(I), (D)-(I1D)

Options:

878270163521. 1
878270163522. 2
878270163523. 3

878270163524. 4

Question Number : 122 Question Id : 87827041640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o= HerEd —

-1 geit-11
(A) HIOIfHER 24 I =EIEs:
(B) YT U4 () sFafEs:
(C) T& Y= S R (1) =
(D) HIEHI9EET 94 {IV] AT NG

(1 (A1), (B)-(I), (O~(I), (D) {W)
(2) (A1), (B)~(IIL), (C)~(I), (D)-(IT)
() (A)-(IV), (B)AD), (C)-(I1), (D))
(4) (A, (B)-(1), (©O)-IV). (D)-()
Options:

878270163525. 1

878270163526. 2

878270163527. 3

878270163528. 4

Question Number : 122 Question Id : 87827041640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gufad Herda —

-1 geit-11
(A) HIITfereR! &; () T=EIEs:
(B) EcEwEEl Ta: () FAES:
(C) TH YT IvaE: (1) e
(D) HIEI9EET T4 {IV) AT NG

(1) (A)-(ID), (B)-(I), (O)~(I), (D) {IV)
(2)  (AAIV), (B)~(IL), (C)-(I), (D)-(IT)
() (A)HIV), (B)-(I), (C)-(IT), (D)-(I1)
(4) )~ )

(A)-(I), (B)-(1), (Q-(IV). (D)-IL



Options :

878270163525. 1
878270163526. 2
878270163527. 3
878270163528. 4

Question Number : 123 Question Id : 87827041641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
qqfed Head —
-1 -1

BELR T
(A) g gem H =
(B)  SRTITEI=FI (I =g
(C) g (IIT) =Y
(D) A=Y (IV) &g

(1) (A1), (B)-(IL), (O)-(1V), (D)-(1I)
(2) (A1), (B)-(1), (O)-(1V), (D)-(IL)
() (AIV), (B)-(I), (C)-(II), (D)-(ILI)
(4) (A0, (B)-(IV), (C)-(1T), (D)-(I1D)

Options:

878270163529. 1
878270163530. 2
878270163531. 3

878270163532. 4

Question Number : 123 Question Id : 87827041641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
-1 -1

o [ 1 F
(A) =IfE HerH n =Y
(B) SRS (I Tg
(©) TFTH (IT) =g
(D) FEvEY (V) &g

(1) (A)D), (B}-(ID), (C)-(1V), (D)-(1I)
(2) (A, (B)-(1), (O)-(1V), (D)-(IL)
() (A)-(V), (B)-(I), (C)-(LI), (D)-(11T)
(4) (A1), (B}-(IV), (C)-(1I), (D)-(L)

Options :

878270163529. 1
878270163530. 2
878270163531. 3

878270163532. 4

Question Number : 124 Question Id : 87827041642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Taf=d HerEd —

-1 Fet-1I
(A) &Fa:FIOME - aaaq () fowg<aay
(B) F:FOgAwg HagH (1) TIHTER:

(C) ERREfEs— aaaH (IIT) GHTT=T=H
(D) WHEE=E= Haaq (IV) 9oy
FferfEdy fosrety wafaay s =90
(1) (A)-(IV), (B)-(I), (O)-(1), (D)-(IL)
(2)  (A)-(IV), (B)~(I), (C)-(L), (D)~(IL)
(3)  (A)-(1V), (B)-(IIL), (O)-(1I), (D)-(L)
(4) (A)-(I), (B)-(IV), (O)~(1), (D)-(IL)

Options:

878270163533. 1
878270163534. 2
878270163535. 3

878270163536. 4

Question Number : 124 Question Id : 87827041642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e Fer —
-1 geit-11
(A) FFIOME e Sa=aq, () fawa=m=m
(B) UGS AagH () THE

(C) wRerEEfE wa=m (IIT) IHIOT=a=H
(D) WHETEfE= HaaH (IV) o=y
Fferfady foeredy wafaad s =0
(1) (A)-(IV), (B)-(I), (O)-(1), (D)-(IL)
(2)  (A)(LV), (B)~(I), (C)~(IL), (D)~(ILL)
(3)  (A)-(1V), (B)-(IIL), (O)~(1D), (D)-(L)
(4) (A)-(I), (B)-(IV), (O)~(I), (D)-(IL)



Options :

878270163533. 1
878270163534. 2
878270163535. 3
878270163536. 4

Question Number : 125 Question Id : 87827041643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gyfad HeEd —
-1 geit-11
RUE =t
(A) HOM: () HT:
(B) U (I) ==H
(C) WM (IIT) ¥4
(D) fHeufEn: (IV) 9IH:

aferfady fosreuy wfeay sw =0
(1 (A1), (B)-(IL), (O)-(I), (D)-(IV)
(2) (A1), (B)-(1), (O)-(1V), (D)-(IL)
(3) (A1), (B)-(II), (C)-(IV), (D)~(11)
(4)  (A-IV), (B)-(IIL), (O)-(1D), (D)-(I)
Options:

878270163537. 1

878270163538. 2

878270163539. 3

878270163540. 4

Question Number : 125 Question Id : 87827041643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

qfed Head —
-1 geit-11
RURE @t
(A) AW () =
(B) UMY (I) ==H
(C) weRTST: (o) g3
(D) Toeufer: (Iv) wf:

(L) (A)HD), (B)M(IT), (C)-(I), (D)-(IV)
(2) (A, (B)-(1), (O)-(1V), (D)-(IL)
(3) (A1), (B)-(IL), (O)-(1V), (D)-(111)
(4)  (A)-(1V), (B)-(L), (C)-(11), (D)-(1)

Options :

878270163537. 1
878270163538. 2
878270163539. 3

878270163540. 4

Question Number : 126 Question Id : 87827041644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HTHTHR USHTaRTI0T FTH FrsTard —

(A) erafeasH

(B) ¥y Fgufaare

(C) FreT=Ieny

(D) TTfe

sfafaEdy fosredy wfaad s =00
() (©), (D), (A), (B)

(2) (D) (A) (O (B)

(3) (A), (B), (©) (D)

4 (©), A) (B) (D)

Options:

878270163541. 1
878270163542. 2
878270163543. 3

878270163544. 4

Question Number : 126 Question Id : 87827041644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SAFIMEATER TUEHTash =i A4Tshe Frsrad —
(A) erafaes

(B)  <irely gufaarE

(C) STeTarenyyl

(D) TeOfEef

srfafady foereay wHfead s =0
() (©), (D), (A), (B)

(2 (D) (A) (O), (B)

(3) (A), (B), (O), (D)

4) (©), (A) (B) (D)

Options :

878270163541. 1



878270163542. 2
878270163543. 3

878270163544. 4

Question Number : 127 Question Id : 87827041645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

areqEfoiaferg = sH ford -

(A) Fefare:
(B) HY:
(C) 3ufa:
(D) STYel
(E) e

() (), (©) (D), (B), (A)

(2) (B), (O (A), (E), (D)

(3)  (B), (D), (E), (A), (O)

(4) (©), (D), (A), (B), (E)
Options :

878270163545. 1
878270163546. 2
878270163547. 3

878270163548. 4

Question Number : 127 Question Id : 87827041645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) FedaTe:

(B) ovmM:

(C) 39ufa:

(D)  3Tqefa

(E) wuH
seifafaay fosrety Tfemy 3w foa
(L) (E), (O, (D), (B), (A)

(2) (B), (O, (A), E), (D)

(3) (B), (D), (E), (A), (O)

4) (©, (D), (A), (B), (E)

Options:

878270163545. 1
878270163546. 2
878270163547. 3
878270163548. 4

Question Number : 128 Question Id : 87827041646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HGaTd THRUEHI Y TSeihayd: Seaciichicdashy (o |

(A) SH:

(B) HAH

(C) &

(D) He:

(E) Tm:

Ffferfady foeredy wafaae ST =00
(1)  (©), (B), (A), (D), (E)

(2) (E), (B), (C), (D), (A)

(3) (©), (D), (A), (E), (B)

(4) (B), (©O), (D), (A), (E)



Options :

878270163549. 1
878270163550. 2
878270163551. 3

878270163552. 4

Question Number : 128 Question Id : 87827041646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

a7 TRRUEI S Toaihayd; FHacikcaidsd =9d |

(A) SF:

(B) HIH

(C) &

(D) We:

(E) ©4:
(1)  (©), (B), (A), (D), (E)
(2)  (B), (B), (C) (D), (A)
3)  (©), (D) (A), (E), (B)
4)  (B), (O) (D), (A), (E)

Options:

878270163549. 1
878270163550. 2
878270163551. 3

878270163552. 4

Question Number : 129 Question Id : 87827041647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Hretreaer® 3o FRHEl AT e R feEd -
(A) Taroo faerem agam

(B) Ul HrquTicrafaerl:

(C) 3JIHSH &q

(D) FgHIHEE THE STHSTH

(E) wFdlgd HAERH
Feferfady fasrety wfedd 3 f=qd
(1) (A) (B), (©), (D), (E)

(2)  (A), (B), (E), (D), (©)

(3) (A), (BE), (B), (D), (©)

4) (A), (B), (E), (C), (D)

Options:

878270163553. 1
878270163554. 2
878270163555. 3

878270163556. 4

Question Number : 129 Question Id : 87827041647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" Frefterers| seas Al G Sfad s feed -
(A) Toeroo fagrem agam

(B) |UI HrquTierafaerl:

(C) 3IIHSH gaiq

(D) FoHIFEE THE ST

(E) Falsd THERA

Fefferfady foeredy wafaas ST =00

(1) (A), (B), (©), (D), (E)
(2) (A), (B), (E),
(3) (A) (E), (B), (D
(4) ), (B), (E)

(
(A), (B), (E



Options :

878270163553. 1
878270163554. 2
878270163555. 3
878270163556. 4

Question Number : 130 Question Id : 87827041648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
IIfeFruTERIO 34 = -
(A) ARG

=,

.

(B) HIRI
(©) ford:
(D) AT

(E) aTeRIsIaT

(D) (B), (©) (B), (A), (D)

(2)  (B), (D), (A), (E), (C)

3 (B), (A), Q) E), (D)

(4) (©), (B), (D), (A), (B)

Options:

878270163557. 1

878270163558. 2

878270163559. 3

878270163560. 4

Question Number : 130 Question Id : 87827041648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



VIfsFTTE=RI 4 = -

(A) ARG

(B) RN

(© fage:

(D) ST

(E) SRS

FeNferfady fosreuy Tafeaad W =
() (B), (C) (E), (A), (D)

(2)  (B), (D), (A), (E), (C)

(3)  (B), (A), (Q), (E), (D)

4) (©), (B) (D), (A), (E)

Options:

878270163557. 1
878270163558. 2
878270163559. 3
878270163560. 4

Question Number : 131 Question Id : 87827041649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TTfgaTe gumeFH foga —
(A) ST

(B) 4IH

(C) I

(D) il

(E) fa=a:

FHferfady fashety wfead 3w =9
(L) D), (B), (C), (A), (E)
(2)  (B), (D), (A), (E), (C)
@) (©), (A), (B), (D), (E)
4) D) (O, (B), (A), (E)



Options :

878270163561. 1
878270163562. 2
878270163563. 3
878270163564. 4

Question Number : 131 Question Id : 87827041649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e FUmRy faga —
(A) T
(B) ¥IH

(C) ﬁu
(D) Ik
(E) foeqa:
(1) (D), (B), (O), (A), (E)
(2) (B), (D), (A), (E), (©)
3)  (©) (A), (B), (D), (E)
(4) (D) (C), (B), (A), (E)
Options:
878270163561. 1
878270163562. 2
878270163563. 3

878270163564. 4

Question Number : 132 Question Id : 87827041650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt caTaeddl H fod -

(A) TG TTH:

(B) dd: o

(C) HASFUhIEH

(D) HUSTHIA:

(E) dd: R

Fferfady fosrety wafaay s =9
(1 (A), (D), (B), (©). (E)

)
(2) (©), (D), (A), (E), (B)
3)  (©), (B) (D), (E), (A)
4)  (B), (©), (A) E), (D)
Options:

878270163565. 1

878270163566. 2

878270163567. 3

878270163568. 4

Question Number : 132 Question Id : 87827041650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt caTaedd H fad -
(A) TG TTH:

am‘r&rrﬁaﬁgﬁmgw@ﬁqmﬁjﬁ:
(1) (A), (D), (B), (C), (E)
(2)  (©), (D), (A), (E), (B)
3) (©), (B), (D), (E), (A)
(4) (B), (O), (A), (E), (D)



Options :

878270163565. 1
878270163566. 2
878270163567. 3
878270163568. 4

Question Number : 133 Question Id : 87827041651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SRR o -
(A) HF: 9
(B) HAY:
(C) FaeTq
(D) Hfd:
(E) &a
() (D) (B), (B), (A), (C)
(2) (D), (B), (C), (A), (E)
(3) (E), (D) (B), (C), (A)
(4) (©), (B), (D), (E), (A)
Options:
878270163569. 1
878270163570. 2
878270163571. 3

878270163572. 4

Question Number : 133 Question Id : 87827041651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) HF: 9

(B) &fafy:

(C) ke

(D) Hfa:

(E) 4

Fferfady fosreuy wafaay s =99
(1) (D) (E), (B), (A), (C)

(2) (D), (B), (©), (A), (E)

(3) (E), (D), (B), (C), (A)

4) (©), (B), (D), (E), (A)

Options:

878270163569. 1
878270163570. 2
878270163571. 3
878270163572. 4

Question Number : 134 Question Id : 87827041652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

: : i3 { £ ~
(A) SHfEEIEFAR:

() (E), (B), (©), (D), (A)
(2) (), (D) (©), (B), (A)
(3)  (A) (B), (O, (D), (E)
4) (©), (D) (E), (A) (B)



Options :

878270163573. 1
878270163574. 2
878270163575. 3
878270163576. 4

Question Number : 134 Question Id : 87827041652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ds : i v NF ; 2 B
(A) SAEAIFHER:

.
(D)
®) fex
(1) ®, (B) (©), (D), (A)
) (), (D), (C), (B), (A)
() (A) (B), (©), D) (E)
@) (© (D) (B), (a) (B)

Options:

878270163573. 1
878270163574. 2
878270163575. 3
878270163576. 4

Question Number : 135 Question Id : 87827041653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) &ATEdn

(B) afer=n

(C) Bu:

(D) =i

(E)

Fferfady fosreuy wafaay s =0
(1) (D) (E), (A), (B), (O)

(2)  (©), (D), (E), (A), (B)

3)  (B), (O, (D), (A), (E)

4) (B), (A), (E), (©), (D)

Options:

878270163577. 1
878270163578. 2
878270163579. 3
878270163580. 4

Question Number : 135 Question Id : 87827041653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(A) e

(B) afer=n

(© o

(D)  sAfufa9:

(E) T

Fefferfady foeredy wafaas S =0
(1) (D), (E), (A), (B), (C)

(2)  (©), (D), (E), (A), (B)

(3) (B), () (D), (A), (E)

(4) (B), (A), (E), (O), (D)



Options :

878270163577. 1
878270163578. 2
878270163579. 3
878270163580. 4

Question Number : 136 Question Id : 87827041654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
siferfias hert fan wafed fased fom -
HITH 1 :  ATHYH: Fole GREY = TSI FAq
HATH 11 : w0 srfefgeafedq: amd: ufay: umE: |
FUferreay ey Fafem 3w foqa —

(1) /YA 1T R/ 11 SYIAT T 377 |

(2) HEF I HYA I IHIAMT SAHHIH A& |
(3) TRYA I A Toh=] eI 11 THETH AT |
(4) R 1 FAGHA fohg Y= 11 gy o1f |

Options:

878270163581. 1
878270163582. 2
878270163583. 3

878270163584. 4

Question Number : 136 Question Id : 87827041654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FfafEd sru gfecn wafed fasked faga -
HITH [ AT hele WRHY = TAT9IrT a7
HATH 11 : w0 srfefgeafedq: amd: ufay: umE: |
sreferEy forpeTy wafed 3w fagd —

(1) YA 1T HYF 11 SYIAMT T 3775 |

(2) YA IR 11 VIR STHIH 3 |
(3) TRYA I A Toh=] eI 11 THETH AT |
(4) R 1 FAGHA fohg Y= 11 gy o1f |

Options:

878270163581. 1
878270163582. 2
878270163583. 3

878270163584. 4

Question Number : 137 Question Id : 87827041655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
fﬁ E =, E ﬁ ﬁ B ﬁ -| ﬁ =
HAH 1 : ;T 9 Yol | deATAHE: | gEAu vefd |
HRUFAY 11 ; ‘T’ 3oad fafea: aeud o o e )

FferEay fashedy gqfaay 3w foga —
(1) e I TS ®eF 11 3WIHTY Heqq 315 |

(2) WY LY I SHIAMT SR 3 |
(3) hYA 1 T foh] YA 11 STHEIH A& |
(4) HUA | A g w11 T &7 |

Options :
878270163585. 1
878270163586. 2

878270163587. 3



878270163588. 4

Question Number : 137 Question Id : 87827041655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
srifefas e feen g fawed foqg —
HITH 1 : ' Ided;’ T A T | aeATeErEl: | g Yafd |
HATH I : “ar&ded: | 3o+ fafed: Teaq g : forg sEfd |
AeferEdy foshedy wfead 3w foga —

(1) ReF 1T oA 11 I9WIATT Heaq 3175 |

(2) IR I HIA 1 SHIAMT SFHHIH A7 |
(3) R I T fohq R 11 39 37 |
(4) HUA 1 37TA g w11 T 217 |

Options :

878270163585. 1
878270163586. 2
878270163587. 3

878270163588. 4

Question Number : 138 Question Id : 87827041656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FfarEd sru gfecen wqfed faswed fogqa —

HUTH 1 AfafSa=resre fFmivl g2t FemEn 9me wafa |
HITH 11 : ATTTa=1a3 STUaT- e A qafd
referEy formeTy wafe ST fagd —

(1) YA 1T HYF 11 SYIAMT T 3775 |

(2) YA IR 11 VIR STHIH 3 |
(3) TRYA I A Toh=] eI 11 THETH AT |
(4) R 1 FAGHA fohg Y= 11 gy o1f |

Options:

878270163589. 1
878270163590. 2
878270163591. 3
878270163592. 4

Question Number : 138 Question Id : 87827041656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
HITH 1 Afufaa=asr fai gan: = aie vafq |
HAT 11 : rfufaa=ier Serae-graorE: e gafd

Ffarady faskedy Ff=ay 3o =90 —
(1) <hYA 1 TS HYF 11 SYIAMT T 375 |

(2) WUA IHYA 11 VIR SR 3 |
(3) ThYA I A Tohw] SherA 11 3THEH A& |
(4) HIF I AGHA T Y 11 T 17 |

Options :
878270163589. 1
878270163590. 2

878270163591. 3



878270163592. 4

Question Number : 139 Question Id : 87827041657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
. o T, SR e T T —
HURYTY (A) : B 5o WAITAT ST SReTReeTATRTRT Yerdlfd erermaaf oA |
U (R) : GEREREICTCk e R NER AR R Eae Rz Wi e e
st foRrery e 3T fog —
(1) (A)T (R) 3 o e T (R) 5 (A) 2R W A

() (A)TE (R) P AT F g (R) 3 (A) S Hfard om0l A |

() ()5 f (R)
@) (A) o7 g (R)

Options :

878270163593. 1

878270163594. 2

878270163595. 3

878270163596. 4

Question Number : 139 Question Id : 87827041657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el FITal: T SR i fgdrd wromie —

HAWRITH (A) : VAT S WAATAI T TResTeeaTARTetU] it Sar-aa T |
ST (R) T VR ARG TR e U FebThiehdl: oI |
spetfeifey faemedy wfer S gy —

(1) (A) T (R) 39 7 Fee O (R) 3f (A) 37 T

) (A) T (R) 3 A F A (R) 3 (A) S Hfa o A |

3) (A) T o (R) S

4) (A) T 5 (R) §OH

Options:

{
{
(

878270163593. 1
878270163594. 2
878270163595. 3
878270163596. 4

Question Number : 140 Question Id : 87827041658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
FHITH1: AEE: e 3o SRS 7 T |
FATH 11 : HEE: T ITARNTEL0 yafd 7= Tofiearon e |

Ffarady faskedy Ff=ay 3o =90 —
(1) <hYA 1 TS HYF 11 SYIAMT T 375 |

(2) WUA IHYA 11 VIR SR 3 |
(3) ThYA I A Tohw] SherA 11 3THEH A& |
(4) HIF I AGHA T Y 11 T 17 |

Options :
878270163597. 1
878270163598. 2

878270163599. 3



878270163600. 4

Question Number : 140 Question Id : 87827041658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
FfafEd o afecn wfad faked g —
AT : THeEE: g 3o SR J W |
HATY 11 : HEE: T3 IYARNEL0 Yafd T3 Tfiearn Eienfd |
FYfarady famedy wf=ad Sw fogq —

(1) YA 1 U HYF 11 SYIAT FeIHq 3776 |

(2) HEF I HYF I IHIAMT SAGHH & |
(3) TRYA I T Teh=] eI 11 3THH 4 |
(4) ReA I A9 o oA 11 Hogr 1 |

Options :

878270163597. 1
878270163598. 2
878270163599. 3

878270163600. 4

Sub-Section Number : 2
Sub-Section Id : 8782701741
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827041659 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



R e HEfH < -

70 P A FRRISTTEY o AW 3 e TeR AR 7R TR e
TRTC: YAl e, Fenft e P | Seed e Sl s, Tomeraening: Teevermnediores,
eIy R FAAIRATE | e FROEW | AauTagamTvar o He |
T FTe- TGS FROW 30| TEqEm | s e Ham Cuea s
TR | 2 0 Fofee] Svemeeen sl | 71 e e e oy | 3
T TH AR | JORE T2 a9 1 @iy # yRgaes? mde
TSR AT Se ot

Sub questions

Question Number : 141 Question Id : 87827041660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FUTALT SZehea AE -

(1) gefaem
(2) YErTEEH
(3) TrIaeayq

(4) FAIITEEEY
Options :

878270163601. 1
878270163602. 2
878270163603. 3

878270163604. 4

Question Number : 142 Question Id : 87827041661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270163605. 1
878270163606. 2
878270163607. 3

878270163608. 4

Question Number : 143 Question Id : 87827041662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TIETH U2 9fd SRS R | ?
(1) S=IIMEGER

(2) frogEserET

(3) HTHATATEEH
)

(4) IS

Options :

8782701636009. 1
878270163610. 2
878270163611. 3

878270163612. 4

Question Number : 144 Question Id : 87827041663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



" FrARAraIeAraie RO 3fa FRUGAH Fal 7 SifhHad -

(1) ST SAfaERrRET

(2) TAfEsE ST=EmEsEe
(3) Trafas safairaryeng
(4) M STEIATALRTERET
Options:

878270163613. 1
878270163614. 2
878270163615. 3
878270163616. 4

Question Number : 145 Question Id : 87827041664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

q<Id: 92T oh HreEA R0 -
(1) oIS

(2) HAFTEHEREA

(3) HYFTGHAIETA

(4) TR AreETEH
Options :

878270163617. 1
878270163618. 2
878270163619. 3
878270163620. 4

Question Id : 87827041659 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Question Label : Comprehension

o Vo St -

70 A YA PRI TATgY o AR 3 GO TeR FR R TR o
TTG: ool e, Fenfty el e | s e ol s, T oning: Seeveruaiioree, 8
ey T FCARATE | Ao FR0EW | SauTagarTvar o e |
T FT- AT TR e T e e e e s
GRTERTCANT | o o0 Fofes] Samenfasforser | 7 Jeewold el Tramelieom | 3¢
T TH YEAEN | JeREa T2 WA aE0 7 @iy # (Rgaes? mne
T IoAvae T avaTetaed g |

Sub questions

Question Number : 141 Question Id : 87827041660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FROTAD BEehea e -
(1) e

(2) gArfaET

(3) T

(4) FTIITEEEYH
Options :

878270163601. 1
878270163602. 2
878270163603. 3

878270163604. 4

Question Number : 142 Question Id : 87827041661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

878270163605. 1
878270163606. 2
878270163607. 3

878270163608. 4

Question Number : 143 Question Id : 87827041662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TIETH U2 9fd SRS R | ?
(1) S=IIMEGER

(2) frogEserET

(3) HTHATATEEH
)

(4) IS

Options :

8782701636009. 1
878270163610. 2
878270163611. 3

878270163612. 4

Question Number : 144 Question Id : 87827041663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) ST SAfaERrRET

(2) TfayT sT=gmEsE
(3) Trafas safairaryeng
(4) M STEIATALRTERET
Options:

878270163613. 1
878270163614. 2
878270163615. 3

878270163616. 4

Question Number : 145 Question Id : 87827041664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

q<Id: 92T oh HreEA R0 -
(1) oIS

(2) HIAMHEEA

(3) HYFAHATHEA

(4) TR AreETEH
Options :

878270163617. 1
878270163618. 2
878270163619. 3

878270163620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701742
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Id : 87827041665 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension

SRR Yo T R < -

"9 7 . 3T AR ATATeTariaTe A e e A forg: - A
el e e faden, el ot Sue e T S aeeed: | whg
Lt pr el e o bR Ebpelb Gl e e R e e T b e P B
TR AR R, S, e fd F e, g oo T, whfem am
T, o A Y | 7 7 5 A 5 el fa S S am e e
P iR el e GIN R R I R LR e T o R e D B el o
Tofefly; el s | S TR fafmefirg i, g e T
fafez oA TIRTAT | G, AT T M| eren e e 30t TerToe, T |

Sub questions

Question Number : 146 Question Id : 87827041666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gy frerrte waf -
(1) TgTE-geaca-3aeami
(2) TEIIE-TUE- FFIEAT

)
(3) TaEE-FHE-IuegE
) fadeE oSt

Options :

878270163621. 1
878270163622. 2
878270163623. 3

878270163624. 4



Question Number : 147 Question Id : 87827041667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270163625. 1
878270163626. 2
878270163627.3

878270163628. 4

Question Number : 148 Question Id : 87827041668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"EE 7o’ ST Grata wigeit wer ?
(1) Hedasmm

(2) fAEeTarm

(3) A&

Options :

878270163629. 1
878270163630. 2
878270163631. 3

878270163632. 4



Question Number : 149 Question Id : 87827041669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
EFHYTEAT] o AT e ?
(1) wEEA
(2) FHEHA
(3) LTS
(4) e
Options :
878270163633. 1
878270163634. 2
878270163635. 3

878270163636. 4

Question Number : 150 Question Id : 87827041670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) =TI

(2) fasEeEm

(3) TIEH

(4)
Options :

878270163637. 1
878270163638. 2
878270163639. 3

878270163640. 4



Question Id : 87827041665 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)

Question Label : Comprehension

SRR Yo T R < -

"9 7 . 3T AR ATATeTariaTe A e e A forg: - A
el e e faden, el ot Sue e T S aeeed: | whg
Lt pr el e o bR Ebpelb Gl e e R e e T b e P B
TR AR R, S, e fd F e, g oo T, whfem am
T, o A Y | 7 7 5 A 5 el fa S S am e e
P iR el e GIN R R I R LR e T o R e D B el o
Tofefly; el s | S TR fafmefirg i, g e T
fafez oA TIRTAT | G, AT T M| eren e e 30t TerToe, T |

Sub questions

Question Number : 146 Question Id : 87827041666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gy frerrte waf -
(1) TgTE-geaca-3aeami
(2) TEIIE-TUE- FFIEAT

)
(3) TaEE-FHE-IuegE
) fadeE oSt

Options :

878270163621. 1
878270163622. 2
878270163623. 3

878270163624. 4



Question Number : 147 Question Id : 87827041667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

878270163625. 1
878270163626. 2
878270163627.3

878270163628. 4

Question Number : 148 Question Id : 87827041668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"EE 7o’ ST Grata wigeit wer ?
(1) Hedasmm

(2) fAEeTarm

(3) A&

Options :

878270163629. 1
878270163630. 2
878270163631. 3

878270163632. 4



Question Number : 149 Question Id : 87827041669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
EFHYTEAT] o AT e ?
(1) wEEA
(2) FHEHA
(3) LTS
(4) e
Options :
878270163633. 1
878270163634. 2
878270163635. 3

878270163636. 4

Question Number : 150 Question Id : 87827041670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) =TI

(2) fasEeEm

(3) TIEH

(4)
Options :

878270163637. 1
878270163638. 2
878270163639. 3

878270163640. 4



